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9
The concept of “Omnis cellula-e cellula”regarding L e LA SN 1’“:{5 51
. Ly bl *

cell division was first proposed by :

(1) Avistotle VY
@  Rudolf Virchow Zadhs (2)
3 Theodore Schwann . s (3)
(4)  Schleiden S @

Which of these following methods is the most “’“’pé"f'd"/ 5&{.}&’ &Iﬁ‘f’@) V"“”'{""w‘ijf?’ﬁ 2

suitable for disposal of nuclear waste ? ¢ o bmlic
(1)  Bury the waste within rocks deep below the cuf fgiﬁjjiﬁ ¥ lj%;c-é’btﬁf (1)
Earth’s surface '

Lkl @

i i = 3 T dds
(3)  Bury the waste under Antarctic ice-cover By AT (3)

@  Dump the waste within rocks under deep . -'L/:; I 'LU’A';:‘E-JJ"“ dﬁﬁ"" (4)
occean

(2)  Shoot the waste nto space

4 {.’.,..f.:.irﬁ = a.,/ZJ_ Lum; sfssd e lf'{;}!f"-".- 9 J_ By 3

‘Which of the following is the most importantcause | 5 .:‘:_,...E.V’._,ﬁii..:z f”
for apimals and plants being driven to y
extinction ? : JresnS ()
(1)  Alien species invasion ' ASE AT (@)
() Habitatloss and fragmentation o s (3)
(3) Droughtand floods JLFi8s N (4)

(4) Economic exploitation

o, ﬂﬁuﬂ_;?ﬁjﬁawﬁ-ﬁ#;ﬁ 4

Conversion of glucose to glucose-6-phosphate, the ¢ a5 ) v
g;:ra}: irreversible reaction of glycolysis, is catalyzed i( ﬁ';,’ s )
(1)  Phosphofructokinase éﬁi" (2)
@  Aldolase it ©
(3) Hexokinase é} (4
(4)  Enolase

:}/ﬁxjﬁbﬁf;ﬂ ufJgJ (?;La bl A bar B

Which of the following immune responses 18 ¢ %;u,,.szj.&}.f_,/
responsible for rejection of kidney graft ? w
SoFudebuk (U

SoFusl @
Sogltt @)
S L?j'J-JJ‘if (4)

T

(1)  Cell-mediated immune response
(2)  Auto-immune response
(3 Humoral immune response

(4 Inflammatory immune response
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6.

Which of the statements given below is not true
about formation of Annual Rings in trees 7.

1)

Annual rings are not prominent in trees of
temperate region.

Annual ring is a combination of $pring wood
and autumn wood produced in a year.

2

(3)  Differential activity of cambium causes Light
and dark bands of tissue - early and late

wood respectively.

4

in climate.

A gene locus has two alleles A, a. Ifthe frequency
of dominant allele A is 0.4, then what will be the
frequency of homozygous dominant, heterozygous
and homozygous recessive individuals in the
population 7

() 0.16 (AA);0.36 (Aa); 0.48 (aa)
(2  0.36 (AA); 0.48 (Aa); 0.16 (aa)
@  0.16(AA); 0.24 (Aa); 0.36 (aa)
(4)  0.16(AA); 0.48 (Aa); 0.36 (aa)

Select the correct sequence for transport of sperm
cells in male reproductive system.

(1) Testis — Epididymis — Vasa efferentia
— Vas deferens — Ejaculatory duct
— Inguinal c¢anal — Urethra

— Urethral meatus

Testis — Epididymis — Vasa efferentia
— Rete testis—Inguinal canal — Urethra

@

Seminiferous tubules — Rete testis
— Vasa efferentia — Epididymis
- Vas deferéns — Ejaculatory duct
— Urethra — Urethral meatus

&)

Seminiferous tubules — Vasa efferentia
—> Epididymis -» Inguinal canal
— Urethra -

@

Which of the following statementsis incorrect ?

@

Prions consist of abnormally folded proteins.

(2) Viroidslack a protein coat,
(3)  Viruses are obligate parasites.
(4)  Infective constituent in viruses is the protein

coat.

Activity of cambium depends upon variation.

3

Pl L st § s W UP e bl f i

© 4,;.,2:.;«.”

B RIPAE gL (1)

;ﬁuﬂfd}@!:ﬁ(mr d}@tg& (Pl o2l (2)
. e

AL EFe pbia Sl & (@)
- Fbar ¥ i3

e At B TSSE @

GATin 0.4 ASreeds e a ASn It
¢ fﬁwﬁ"&r}lyﬁuﬁrﬁm -.a/@wd:iu%m&
0.16 (AA); 0.36 (Aa); 0.48 (aa) (1)
0.36 (AA); 0.48 (Aa); 0.16 (aa) (2)
0.16 (AA); 0.24 (Aa); 0.36 (aa) (3)

0.16 (AA); 0.48 (Aa); 0.36 (aa) (4)

I P CL LS PSSt ridn
AU 2 AUt u’r;idic@{-— Ve (1)
 UEUAY < B e WU < b
A e v et e S
I/’f;g <

B e 2 < PG Jedud B
JAge 1y <ot « ARgl « i
| u¥

UMBEIE e« i « Jutud T
g JUg

(2)

3

(4)

¥ syl b«c,bj/ufgijgxﬂ
oA A ()
e ek ity (@

et s ()
e st (@)

T
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10.

11.

12,

13.

14,

In some plants, the female gamete develops into w?i'ﬁf—ﬁ-aﬂiyut{/ﬂﬁ";’&dfﬂy*..‘-j. #-’L‘uﬂfuﬂ{,’o{ 10
embryo without fertilization. This phenomenon | .
isknown as : e bbbl sl
(1)  Parthenogenesis Ut ﬁ-k (1)
(2) Autogamy ﬁi (2)
3 Parthenoca |
) | Iw gL (3)
4 Syngamy lfr"
ol (@)
Which of the following statements is incorrect ? . 5
. ¢ bl T 11
(1)  Yeasts have filamentous bodies with long e et i
thread-like hyphae. - tf;fﬁwu’ﬁw:f»vmfud/ B
(2) Mumls and truffles are edible delicacies. i !:,?J o LJ/J‘ b5 d, - (2)_
3)  Claviceps is a source of many alkaloids and ' .
* isD. T -2l e e T (3)
4  Conidia are produced exogenously and (,ffiﬂ’tj;uﬂg“lfgﬁlﬂf:%. L{gﬁi..;zﬁ!":{&ﬁ (4)
ascospores endogenously. S
S W SwEDay T A E e a2
What map unit (Centimorgan) is adopted in the : G .
construction of genetic maps ? 50% U =4y ey l-( Eblend s Pl (1)
(1) A unit of distance between genes on -—tf—-dﬂjﬁulftfﬁf
chr : ting 50% over. i
! on?nc.nso.mes representing 50% cross over 10% 2 Pesid ol J Lo Senl Sl (@)
(2) A unit of distance between two expressed | =~ = ' " J s
genes, représenting 10% cross over. '-‘E-d” & VJU:’
(8) A unit of distance between two expressed | '100% (& ‘_/2‘ Wiy uﬁ d/ éfwwé_{ Lol Pl (é)
genes, representing 100% cross over. '%- L';,!f. L;;V JJ J)f
4 A unit of distance between genes on o e
chromosomes, representing 1% cross over. 1% s ety il J&i c}!{m’; skl (4)
ﬁff_.aﬂff'ﬂgfbﬁf
Which of the following statements is not correct ?
(1) Lysosomes are formed by the process of ¥ u‘u"’ {utL’L’UfL e J dounr 13
packaging in the endoplasmic reticulum.
L J‘Z_L?E»u:f’f@;ﬂwlrrﬂ (1)
(2) Lysosomes have numerous hydrolytic
enzymes. _L,“r:'rflyl L !Lu;- :»-‘ufr'yy:! (2)
3 ’_I‘hg _hydrolytic'epzymes of lysosomes are Uil & Lé {;:; 2 :,.ﬁui’{, Z’F-‘ wd  (3)
active under acidicpH. - S . 5 B
4)  Lysosomes are membrane bound structures, '95“:‘1*-""!’2‘3' s {f"""‘ (4)
. ¢ s A NP 3 _ o i
Which of the following muscular disorders is Vil T/ P Lde .LU}( ’:""’:J-"?JM 14
inherited ? ; SIA (1)
1) Botulism : T
D e (2)
(2) Tetany ; '
SUSA~ (3)
(3) Muscular dystrophy
(4) Myasthenia gravis W e @
e collegedunia:
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15.

16.

17.

18.

19,

Respiratory Quotient (RQ) value of tripalmitin s :
®n 009

@ 09
@3 0.7
4 0.07

In Antirrhinum (Snapdragon), a red flower was
crossed with a white flower and in F, generation,
pink flowers were obtained. When pink flowers
were selfed, the F, generation showed white, red
and pink flowers. Choose the incorrect statement
from the following: -

() Law of .S_‘f;grjegatipn does not apply in this
experiment.

(2)  Thisexperiment does niot follow the Principle
of Dominance.

(3 Pink colour in F is due to incomplete
.dominance.

@  Ratio fF, s (Red): 5 (Bink): ; (White

Thiobacillus is a group of bacteria helpful in
carryingout:

)] I_Jenitriﬁcaﬁun ,

@  Nitrogen fixation

(3) Chemoautotrophic fixation

(@ Nitrification

Grass leaves curl inwards during very dry
weather. Select the most appropriate reason from
the following :

(1) Tyloses invessels

@  Closure of stomata

@  Flaccidity of bulliform cells

(49  Shrinkage of air spaces in spongy mesophyll

What is the site of perception of photoperiod
necessary for induction of flowering in plants ?

(1) Leaves

) Lateralbuds
(3) Pulvinus

(40  Shootapex

5

D ged e’ FetUyd

0.09 (1)
0.9 (2
0.7 3

0.07 @)

MW e S LA I e
F, 4SSO U e RS T,

o dﬂf i/ /Jﬂ{é Lsil)ﬁlwgﬁiuf

S Idseldld A ()
e SRR IAEN e (2)
eSS EYEA T, @)

ol s B T g
(_g.,w-)z «(Q;S’ e (o/) S E @

e but Ll o/ 2S5 H
uﬁﬂ Fe83 (@)

A @

A od

2 w*gdft (4)

onbic e Sipin$ S AUE L By
s

LFLEUE ()

Jedtt (@)

GJ’XJ&@[‘;;’J!& (3)
SinBLobllie e d @

Wor S B Sh 96npd Lo SSeL uditomy
f e

ugg ()

JidH @)

St ®
u’-f*i..*.:ﬁ (4)
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21.

22,

23,

24.

Drug called ‘Heroin’ is synthesized by :

Englismumu:};}_?._f; .

¥ ?Lﬁe!ﬁ;t/(@ﬁ’ .20
(1)  nitration of morphine &0 3 _
RIS FFdAEr (1)
(2) methylation of morphine _ '( .
(8) acetylation of morphine MV&"' )
(@)  glycosylation of morphine ﬂ pidetr  (9)
Extrusion of second polar body from egg nucleus Jé’rﬁ;"rgjf . (4)
occurs : ' . '
: Ar 1A oy 8o
(1) simultaneously with first cleavage Pk 6-] Kf/'b < ALLJ‘ 21
(2)  afterentry of sperm but before fertilization AL Lk;wyjtﬁ‘-g (1)
3)  after fertilization %c_.:jm{_r gr?.ﬂibbﬁ (i (2)
@  before entry of sperm into ovum W s (3)
The ciliated epithelial cells are required to move L fuil bz (@)
particles or mucus in a specific direction. In T )
humans, these cells are mainly present in : ,:;‘g.d;:ﬁtlgi.pf? (R A D m.gfur.w‘” (Sl .22
(1)  Bronchioles and Fallopian tubes ¢ -‘;‘-—Wr!g .[:.%-’ " ? LUk J’/ U
(2) Bile duct and Bronchioles . - '
; | : | et cffﬁgfﬁjd{ﬁx (1)
3) Fallopian tubes and Pancreatic duct : s
(4)  FEustachian tube and Salivary duct | L_JZE‘!"‘*’"JJ vQ)
| St bt @
Match the Column - I with Column - I1 ; J It%{
Column -1 Column - 11 dw”;"‘"‘ﬂ (4
@ P-wave @  Depolarisation of T ‘15» e K 23
ventricles TR :
® QRScomplex (i) Repolarisationof IL- /¥ I-¢¢
ventricles L/%'{‘/J.?_ﬂ Nﬂ }*‘:ﬂf ) AP ()
© T-wave (i) Coronary _ ' 5 . .
ischemia 'fﬁ-) L Kﬂ}:ﬁ (11) U.CE/ QRS  (b)
@ Reductioninthe (iv) Depolarisationof W G AT ©
SHe DL ave BEE At @ dAAEAT @
(v}  Repolarisation of 7
atria L—ﬁﬁ);:-; LA (v) .
Select the correct option. Ly /‘/....rl%:fﬁfr 1 é“
| (_s}) (}1) (c) @. d) @ ») ()
O @ @ & W @) ) @ @
@ & 0 O @ @) G @ v @
® & 0 ® 6 ® G O v @
@ @ 0 & G & O @ @
Pi+nus seed cannot g?rmingi_:e‘and' establish : :_,.;-:_é)’uﬁ?ﬁ'ﬁmgﬁﬁﬁﬁ'lﬁﬂigﬁykgﬁfi 94
without fungal association. This is because : . ) e L %
(I)  its seeds contain inhibitors that prevent "F‘-L’G"‘;‘{”’r U!’qﬁ‘f‘ﬂd’g&:‘ (1)
germination. : --:.:—{}ﬁ?hrt':‘él.f I (2)
@) %ts BTﬂbr}:{D is immaﬁi.;u:.re. “ | ek i LS (3
(8)  ithasobligate association with mycorrhizae. ‘ e
(4)  ithasvery hard seed coat. '%éfé‘ﬁ-/%dw (4)
collegedunlas
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25..

26.

27.

28,

Which of the fullqwing ecological pyramids is
generally inverted ? -

()  Pyramid of biomassina sea
(2)  Pyramid of nﬁrpbefs in grassland
(8)  Pyramid of energy

(4) Pyramid of biomass in a forest

Which of the following contraceptive methods do
involve a role of hormone ?

(1)  Pills, Emergency contraceptives, Barrier
methods-

@) Lactational amenorrhea, Pills, Emergency
contraceptives

(3)  Barrier method, Lactational amenorrhea,
Pills '

4  CuT, f’ilis, Emergency contraceptives

The shorter and longer arms of a submetacentric
chromosome are referred toas:

(1)  m-arm and n-arm respectively
(2) s-armandl-arm respectively
(3)  p-arm and g-arm respectively

(4)  g-arm and p-arm respectively

Match the following hormones with the respective
disease :

@ Insulin @  Addison’s disease
(b) Thyroxin @)  Diabetesinsipidus
©  Corticoids (i) Acromegaly

(d) GrowthHormone (iv) Goitre

- (v)  Diabetes mellitus
Select the correet option.
(@ ¢) © @
O @ G 6 G
@ ® O @ @
@ @ @ @ @O
@ ® & © @

L= algﬂ%!f’{ul’r kily &yi LL-'L-J/,;. pﬁf J Soin

LUtk (1)

dgbdsgnd @)

A, S @)

ifg'io’ituﬁﬁ-ﬁ (@)

$- e b S G e S UR A s
IMRese VP 0E ()

N I N

Pty b, @
P (@
b’la!,;,.] 4 oy, L L}?}fl_gg;fgf L B’rjjr‘y’/ J I e or

D

i

it Pl iken  sihem (1) -

et ) il siles (2)
wPhk-qal sibep (8)

LA 2iep B seq (4)

: IR VAL e Byl S sice
Sk G G (@)
VhST U i S5 )
&I G
A )
SuE @)

K (o)

{:JJ"JS-J?&; (d)

SIS

d) (@ ) (@
@) @ 3Gy G @)
iy G) @ @ @)
O @) v G @)
am O v @ @

T
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29.

30.

31

32,

33.

Select the correct option.

(1) There are seven pairs of vertebrosternal,
three pairs of vertebrochondral and two pairs
of vertebral ribs.

2  8th, 9th and 10! pairs of ribs articulate
directly with the sternum,

(3)  11thand 12th pairs of ribs are connected to

@

the sternum with the help of hyaline
cartilage.

Each rib is a flat thin bone and all the ribs
are connected dorsally to the thoracic

vertebrae and ventrally to the sternum.

Match. the following organisms with their
respective characteristics :

@
b)
()
G

Bila (i) Flame cells
Bombyx (i) Combplates
Pleurobrachia (iH) Radula
Taenia Gv) Malpighian
tubules

Select the correct option from the following :

@ ® © @

O @) @ v O

@ @ @ @O W

@ G@ v @ @

@ @ G @ O

What is the dirvection of movement of sugars in

phloem ?

(1)  Bi-directional

(2  Non-multidirectional

3 Upward

4  Downward

Which part of the brain is responsible for

thermoregulation 7

(1) Medullaoblongata

2  Cerebrum

(3) Hypothalamus

(4)  Corpus callosum

Xylem translocates :

(1)  Water, mineral salts, some organic nitrogen
and hormones :

(2) Wateronly

(8 Water and mineral salts only

(40 Water, mineral salts and some organic

nitrogen only

L QIR 29

J.!I'gfu'?_ [;f L JJ:'; AL d;s.n.}'ﬁ P L'Z. J j«'l'sx J};JJL

i IR 1l ﬁd/ JJJ.{

e/ e (IR AU 10 U9 (U8
e

A Pl e FKudtun 12 0 ubid
..uf%‘.;;fz"?’.ﬁ"::.:ﬁl,

N O I ST AR 2L AL
. ww ";q-@fd?a-ffﬁ’f

{1)

(2)

(3)

4

L AL PGS o S B0

=S @) s
S @
Yghs (i) stk

N2 N

(a)
(b)
(¢)
(d)

I F e S5l

@ @ ® ()

® Gv) G @)
av) @@ @) @iy
o @ v @)
0 G Gv) @)

(1)
@)
(3)
4

¢ e Yard LASFLES 31

sl
N7
Ao
SME

(1)
(2)
(3)
(4)

? oo s U Y Ll L7 .32

l&a-':i!l:i_-*

(s
U
ﬁfuﬁw{

(1)
(2)
(3
(4)

b .33

orpatapelipt e dy
e

QLI
Pt Pdlde

sh

T

(1)
2)
3)
(4)
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34,

35.

36.

37.

Which one of the following equipments is
essentially required for growing microhes on a
large scale, for industrial production of enzymes?

(1) Bioreactor

&  BODincubator
@)  Sludge digester
(40 Industrial oven

DNA precipitaﬁon out of a mixture of biomolecules
can be achieved by treatment with :

(1)  Chilied chlﬂ_r_cform

(2)  Isopropanol

(8)  Chilled ethano}

(4) Methanol at room tém-p erature

Match the hominids ﬁrith their correct brain
siZe :

(@  Homo habilis @  900cc
() Homoneanderthalensis (i) 1350cc.
(0 Homo erectus (i) 650-800cc
@  Homo sapiens iv) 1400cc
Select the correct option.

@ GO @ @
O v @ @O @
@ @ @ @ @
@ @ @ O @
@ @ & @ @

From evolutionary point of view, retention of the
female gametophyte with developing young embryo
on the parent sporophyte for some time, is first
observed in :

{1) Gymnosperms
2) Liverworts

(3) Mosses

(4  Pteridophytes

9

gy e 5L ASE U Ut s priis
¢ _.;;_,(5); /‘{ J)’d} ﬂé’.zf.;’.. Lo LJJJ/? by i

Huy

KEBOD ()

A0 (3)

SUL g @)

S 3PSt EE fe Lt
el

(Guﬂlﬁé (1)

Jrigrt (2)

JsusE (3)

Jitr yezonle £ (4)

itk Sl WAL PLCL::AJJZ.UW Eaty

900 cc @) U*J"%f;f (a)
1350 oo GiD) Sk (b)
650-800 cc  (iii) ivn (@
1400 cc  (iv) S (@)
:q/.,:;""_'__,f;:'g

(d () () (a)
) @ @) v Q)
Gi) Gv) @ G @)
vy @ @) G ()
w @ v @) @

A AL s $3 R uind ( Sosmry a2 pde

+ e SIS

ZL Y
Sk @

J¥  (3)
S @

-

R6
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38.

39.

40.

41.

42,

[ English+Urdu

10
Consider following features :  SAtredar® Vit .38
@  Organsystem level of organisation i‘b( o Y ‘.:' ',f; (a)
Bilateral symme :
{0  Truecoelomates with segmentation of body - sk
ek FALSTLS (O
Select the correct option of animal groups which . .
possess all the above characteristics. I W e ﬁ o] é::__ u;;)?.i sl
(1) A.nnehda Mollusca and Chordata Lt
(2)  Annelida, Arthropoda and Chordata LA Ly i (1)
(3) Annelida, Arthropoda and Mollusca Y7 ity ’;& L (@)
4  Arthropoda, Mollusca and Chordata s
Kl 54 Al 3N (8)
Which of the following statements regarding L3/ Ly diys A (4)
mitochondria is incorrect ?
(1y Mitochondrial matrix contains gingle ¢ ﬁ;bgjfﬂa_.uﬂ@tk.dhjgxféwﬁpifﬁL .39
ircular DNA molecule and rib ; A '
circular mo -ec e and ribosomes Jﬁffguﬂ':’féitﬂ L},g_,#;, JJ}-’:J:J}:'/FL (1)
@)  Outer membrane is permeable to monomers
of carbohydrates, fats and proteins. -t
(3  Enzymes of electron transport are embedded | Jsze el L ol @5:.; sl Zesc iV (2)
in outer membrane, : d‘; '
(4) Inner membrane is convoluted with s > ey
infoldings. —Utedm & sz f{"’:- Oy 4751 (@)
_ . e SeAL S (@)
Polyblend, a fine powder of recycled modified
plastic, has proved to be a good material for : f:f—*-:b‘:'!‘icf—ﬁl&’&ﬁi!;i{f;ﬂKﬁ%nﬁ&&ﬁaﬁfb&; 40
(1) making tubes and pipes ¢ o
(2) making plastic sacks ; s :
s dbiAlalox (1)
(3)  use asa fertilizer :L;:J_ﬁ
(4)  construction of roads b Y @
| S bl (3)
Which of the following factors is responsible for AGrY 4
the formation of concentrated urine ? /:’,’JL;U RS
(1) Hydrostatic pressure during glomerular C e Mnsd Lk / 2 /J@"_p Sl soe 41
filtration. ‘ o
anon . _ JLJ-«@"M.& Quf.u;ﬁu)/b)/}g (1)
(2) Low levels of antidiuretic hormone. 5 K/J r y (f‘ 5
vl
(3) Maintaining hyperosmolarity towards inner 5 .5 Oy s (_ )
medullary interstitium in the kidneys. éﬂfﬂﬁ J'/Lf.}!’?‘& 1 [{d/ i 'd/‘—’u!-:‘ KIS U’Jf (3)
4 Secretion - of  erythropoietin by [‘-Effuf;__':/gﬂ,fﬁﬁ ﬁ/-.f.‘rfbﬂ’; (4)
Juxtaglomerular complex. - .
cardiac) & .:.«:i..,fia?ﬁ gfr: W,}ML U‘;A-«Ei 42
What would be the heart rate of a person if the R 9. G s A 1
cardiacoutputis 5 L, blood volume in the ventricles ’ M Juid Lﬁ/i :,r:; LLJH ii Blontpiit
at the end of diastole is 100 mL and at the end of < 50 mL {(L'Fid/.dr‘»f.d/ $ %l &-100 mL
ventricular systole is 50 mL ? cf:‘?ﬁ* 125 el (1)
(1) 125 beats per minute ‘:;(;wJ 50 ferdl (2
2 50 beats inut
@) eats per m?nu e u,;% - L,t..:.w_.g’: 3)
(3) 75 beats per minute J/ S ' v
2 100 el 4
@) 100 beats per minute 42 il @)
collegedunlau
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47.

[
Englishi+Urdu
43,

Match the following structures with their
respective location in organs :

{a) CryptsofLieberkiihn ()  Pancreas

(o)  Glisson’s Capsule i) Duodenum

(©  Isletsof Langerhans (@) Small

infestine

({d) Brunner'sGlands Gv) Liver

Select the correct option from the following :
@ O © @

® G @ O

@ @ O @

@ @ v ©O

@ @ o O @

Which of the following protocols did aim for
reducing emission of chlorofluorocarbons into the
atmosphere ?

(1)  Geneva Protocol

@  Montreal Protocol
(3) Kyoto Protocol

(4}  Gothenburg Protocol

The frequency of recombination between gene pairs
on the same chromosome as a measure of the
distance between genes was explained by :

(1)  Sutton Boveri
2 T.H.Morgan
3)  Gregord. Mendel
(4)  Alfred Sturtevant

Pergistent nucellus in the seed is known as :

(1) Tegmen
2y Chalaza
(3) Perisperm
4  Hilum

Placentation, in which ovules develop on the inner
wall-of the ovary or in peripheral part, is :

(1) Freecentral
2) DBasal

@ Axile

(4  Parietal

11

_Lﬂ-:..ry%!&lp c.é._wd_ Skt
A eldlA (@
Fa G 6t m)
108 i) <t CAP ©
£ Gv) WL (@)
:J"f;,e@'fﬁfr;l??g

d) () () ()
vy @ G G (@
vy @) @ @Gy (@)
i) @ av @ (3
i) @ Gv) @) @

[J;( LAP Lk Ku:ﬁusfuf _JP b Jﬁ:{ sl 949 .j,g.:ﬂ
¢ Bl S

: d;@:,;ig" (1)
g (@)
il (3)

S L @)

oes Loz et Ky 2L Fe§2giend 52
¢ g.lﬁ,g’gjﬁfcﬂ brs t,ﬁ*fﬁ&iﬁjﬁul‘.u

de” ()
S8l @
Uk 22 (8
LA o 3B (4)

e bbbl uﬁj{vz:ﬁ!‘uﬁﬁ
WS
Ll (2)
e (8)

A @

L £ JL_*I".J,JJJA” £ (o <§.I Eve Llﬂ;!' e ﬁwi% & .ﬁuf

§ &t s
JEG @
JEF (@
VNG

kB

Jo; @

-

R6
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48,

49,

50.

51.

52,

How does steroid hormone influence the cellular
aﬂtlwtlea ?

(1) Usmg aquapnrm channels as second
~messenger.

(2) Changing the permeability of the cell
membrane.

3 Binding to DNA and forming a

gerie-hormone complex.

(@ - Activating cyclic AMP located on the cell
membrane.

Match the following organisms w1th the products
they produce :

@  Lactobacillus © @  Cheese
(b) Sa,ccf}qromjfces @  Curd
cerevLsioe
(- Aspergillus niger () Citric Acid
) . Acetobucter aceti Gv) Bread
| &)  AceticAcid
Select the correct option. -
@ b @ @
®» @ O @ @
@ @ @ © @
@ .y, (v @)

@ @ w » O

What triggers activation of protoxin to active Bt
toxin of Bacillus thuringiensis in boll worm ?

1) Acidic pH of stomach

2 Body temp erature

¥  Moist surface of midgut
{4  Alkaline pH of gut

Which of the following features of genetic code does
allow bacteria to produce human insulin by
recombinant DNA technology ?.

(Iy  Genetic code is specific

(2)  Genetic code is niot ambiguous
3)  Geneticcode is redundant

(4}  Genetic code is nearly universal

Which. of the following glucose transporters is
insulin-dependent ?

M GLUTIV
2 GLUTI
3 GLUTH

@ GLUTIN

12

Eﬁglishm'rdil

s

-

\PTS uuuuf/f}),%)ﬁm s /l 48
g P kT (1)
el SEF @
Cheoggelr Al S il (3)
Ay amp S En Pk @

_5 :g/fy@};ﬂ;rﬁ;@gmiﬂm AY
A0 U ()
Vo) S GLE )

e G £ ©
b @) GEET (@)
A (@) |
LUAAE

(d) (@ B (a)
@ @) O @ @
@ ® @ ® @
W @ ™ @ @
H @ @ @ @

Spe iy LI GGISL AP L pnds 50

CeteV2 LS
Sy Q)
=M (2)
CHeT @)
Gt (@
Gl ot e S e sl i ionr 51
¢ LE:wi%’JLﬁ%;wﬁ'ﬁfGUfc-ﬁﬁJW{;?
Y, 7S SN
e K e ()
,,;_;rf":{_ifu@é (3)
AL B
¢ i i U S B2
GLUT IV (1)
GLUT I (2)
GLUT 1T (3)
GLUT I (4)
collegedunlaa
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53.

54,

85.

56.

a7,

Select the correctly written scientific name of
Mango which was first described by
Carolus Linnaeus :

O Mangifera Indica

(2) Manﬁfef& indica Car. Linn.
(3 MangiferaindicaLinn.

(4)  Mangiferaindica

What is the fate of the male gametes discharged
inthe synergid 7 .

()’ One fuses with the egg and other fuses with
" central cell nuclei.
{2)  Onefuseswith the egg, other(s) dégenerate(s)
in the synergid. ~
(8)  All fuse with the egg.
4)  One fuses with the egg, other(s) fuse(s) with
synergid nucleus.

Which of the following can be used as a biocontrol
agent in the treatment of plant disease ?

(1) Lactobacillus

(2) Trichoderma

@)  Chlorella

4y  Anabaena 5

In a species, the weight of newborn ranges from
210 5 kg. 97% of the newborn with an average
weight between 3 to 8.3 kg survive whereas 99%

of the infants born with weights from 2 to 2.5 kg
or 4.5 to 5 kg die. Which type of selection process °

is taking place ?

(1)  Cyclical Selection

(2)  Directional Selection
(@  Stabilizing Selection
{49)  Disruptive Selection

Following statements describe the characteristics
of the enzyme Restriction Endonuclease. Identify
the incorrect statement.

()  The enzyme recognizes a specific
palindromic nucleotide sequence in the DNA.

(20  The enzyme cuts DNA molecule atidentified
position within the DNA.

3)  The enzyme binds DNA at specific sites and
cuts only one of the two strands.

(4) The enzyme cuts the sugar-phosphate

backbone at specific sites on each strand.

13

R6
& uﬁdu-ijs’.ia/_f’(awwf/;&)é'&rs 58
PRIy
Mangiférg Indzca . (1)
Muangifera indica Car. Linn, (2)
Mangifera indica Linn. (3)
" Mangifera indica  (4)
g_l.f_,ﬂdw_.r@bd’ui‘f S 54
Jﬁﬁﬁvéuﬁwuﬂ:rmi Aol ki (1)
L AL _.muwna;w:u:j " @)
Rpldela X (3)
WAL s polid KAL)
,J;"Z:J!dﬁ/'@tfc.f:cbwdbﬂqufc.-pfl_)'};;# .55
LG Ly
S @
LHOZ (©)
k(3
W @
g 9T% - (U¥ 5 o2 UnbUFIng U dl .56
B e ksl tfF 3.3 <3 unba¥l bl n
A B abl ¥ 25228 L hi s 99%
¢ ,ﬂ_deJﬁer’dfm.ﬁ
._.,wf/l" Q)
'-ft‘t"*#w*" (2)
t/("/f” I BT (3)
S @
ugwﬁ.t’/@ﬁﬂf@yrﬁfﬁmprWLuJ;;JM BT
/NSNS SIS ISP ()
B¢ Mttty Bal o gGBAs (@)
| e
w2 b i el Kefir ki Pz AN A (3)
el
o Bl d i S S TR ()
e collegedunia:

T
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58.  Match the following genes of the Lacoperon with | (.00 o bsetslongt JUie £ sy S e S S B8
their respective products : | ) : q/':.;fu _
(@ igene @  B-galactosidase "y ;ﬁ_ & @ Jfl @)
(b)  zgene (i) Permease ' JOP—— Sz ®
{c) a gene (iii) Repressor /-)*/;J (i) a ©
d ygene | {iv) Transacetylase 5&7 uju iv) oy )
Select the correct option. " o ...5;'-.'.‘%'"?1 é"
@ (k) @ @@ d © G ()
O @ v O @ @ O @ @ @
®@ ¢ o & © ) @ @ 0 @
@ @ @O @ o Gv) G @ @) ()
@ @0 & @ i v O G @
59. Purines found both iri DNA and RNA are : U tblbe/munud RNASIDNA .59
()  Cytosine and thymine SO (1)
(@  Adenine and thymine Bl (@)
(3)  Adenine and guanine Ll (3)
(4  ‘Guanine and eytosine ALY (@)
| Ytk .60
60. Consider the following sfatements : “ e ufs,; F'P:'?-f-- &’m{ﬁ crif ?,&Qm’ r?'ﬂ s A)
(A) Coenzyme or metal ion that is tightly bound ' .
to enzyme protein is called prosthetic group. g E'L?u/“q" "@a{ s
(B)  Acomplete catalytic active enzyme with its "’f w: 77 f“@j‘; - bnliz F!:F{,EEIJU M‘}{'g (B)
bound prosthetic group is called apoenzyme. - ,,;_r;-@q’ FI;?L-;;I
Select the correct option. ) /._‘__, E-"IK;_[:]BI_Z;J
(1)  (A)is false but (B) is true. ﬂ,;_éé (B) w-’?,.:_ (A (D)
@  Both(A)and (B) are true. 8 B A @YUs @
®  (A)is true but (B) is false. ek B el @) B
@  Both (A) and (B) are false. Ul (B) o (A)uds (1)
61. ConcanavalinAis: e JM 61
(1) apigment w5 W
@ .analkaloid _,mu? (2_)
(3) anessential oil Jidﬂi _(_3)
4 alectin' “ﬁg .
collegedunias
CTEF | o targust Sudent Roviaw Pistirin
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62.

63.

Identify the correct pair representing the
causative agent of typhoid fever and the
confirmatory test for typhoid.

(1)  Salmonella typhi/ Widal test

(20  Plasmodium vivax/ UTI test

(3)  Streptococcus pneumoniae / Widal test
(4)  Salmonella typhi/ Anthrone test

Qelect the incorrect statement.

(1)  Inbreeding helps in accumulation of superior
genes and elimination of undesirable genes.

(2)  Inbreeding increases homozygosity.

(3) Inbreedingis essential to evolve purelines
in any animal.

(4y  Inbreeding selects harmful recessive genes

that reduce fertility and productivity.

Select the incorrect statement.

()  Human males have one of their
sex-chromosome much shorter than the
other.

(2) Male fruit fly is heterogametic.

(3) Inmale grasshoppers, 50% of sperms have
no sex-chromosome.

@ In domesticated fowls, sex of progeny

depends on the type of sperm rather than
egg.

Due to increasing air-borne allergens and
pollutants, many people in urban areas are
suffering from respiratory disorder causing
wheezing due to:

(1)  reduction in the secretion of surfactants by
pneumocytes.

(2)  benign growth on mucous lining of nasal

(3) inflammation of bronchi and bronchioles.

()  proliferation of fibrous tissues and damage

of the alveolar walls.

Which of the following pair of organelles does not
contain DNA ?

() Nuclear envelope and Mitochondria-
(2)  Mitochondria and Lysosomes

(8  Chloroplast and Vacuoles

4  Lysosomes and Vacuoles

15

R6
A_r;L/Jﬁu&.xﬁqJJG?L:{L&;’B”:#U@&WM 62
Sl
b dibsr Sl ()
LAUTL Saalirt (@
25 ks 1 LA (3)
sl dede (@)
LSS Bl 63
dosit oSS G YR ST (D)
Py
LI Bee Phs (@)
S d L5 Spostdedss” @)
-»;"—-szs./"’d'j
et 7eee IR SIS bt @
Py
L YISl .64
-%fwﬁuﬁ&uﬁfrfﬂ/ﬁJu';uﬁuwgm (1)
| - -@‘é-’::rf{ S @
e S SISt 50% g ()
I PRI T A VN Y S C)
:4-:JLwdergJ&?TJJIg"-")idué,ﬁi,i.;utw&“’fc .65
: q.ggsu(uﬂ.g;t'ﬁfégdﬂﬁfﬁfxgﬁuﬁm
SR E Rty 3L vk (D)
5 Soousedd St @
JsEgifinden (3
$#41 s proliferation L fibrous tissues  (4)
.';_i:lg:;wuﬁfuylg;
?;‘;,UELJ'%.,!QI@J&.&Jgﬁd@f;&di@ﬁ .66
LA A (1)
erod sl LB (@)
S5 ol ui-f*i!;wb/ )
AT rﬂjﬂ (4)
o=

T
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67.

69.

70.

1.

Under which of the following conditions will there
be no change in the reading frame of following
mRNA? -

AACAGCGGUGCUAUTJ 3
(1)  Deletion of GGU from 7th, 8th gng gth
positions

@  Insertion of G at 5tR position
(8  Deletionof G from 5t position

(4 Insertionof A and G at 4thand 5t positions
respectively

The correct seq.ueﬂu-::e of phases of cell cycle is :
M G -=8->G->M
@ M5G >G-S
B G;>G,>S—>M
@ S-G—> Gy —> M

What is the genetic disorder in which an individual
has an overall masculine development,
gynaecomastia, and is sterile ?

(1) Down'ssyndrome

2) Tuyner’s syndrome

(3  Klinefelter's syndrome
@) Edward syndrome

Colostrum, the yellowish fluid, secreted by mother

- during the initial days of lactation is very essential

tompart immunity to the newborn infants because
it contains :

()  Imminoglobulin A
(2)  Natural killer cells
(8  Monocytes

(4) Macrophages

Which one of the following statements regarding
post-fertilization development in flowering plants
is incorrect ?

(1)  Ovules develop into embryo sac

2)  Ovary develops into fruit

3 Zygote deﬁelops into embryo

{4y  Central cell develops into endosperm

16

[Engish+Urdu]
J’ d){):f‘}éﬁ/£H_.I'JZ|JJ('|L}‘U}‘;:-(,£HUL?JJ;JM .87
' f (fﬁpf-‘-/
5" AACAGCGGUGCUAUU &'
¥ GGU e gy 9th oy gth Th ()
Bl G gy 5th (@)
20K G g 5t ()
LS Gl A ey Btht ath b 23y (4
w!gJJ/LL,?L’J’ 68
G;>8->G,>M" ()
M- G, >G5S (2
G,>GoSHM  (3)
85 G»G,>M (4
W@t §70 b G HES ¢ e SY5 B 69
fe sl
(ks (1)
r:fiff)} (2)
i AAE ()
(uASns (4)
f‘:/“’:’/dhudbﬁa;u)lfuwbné uf;dngf;a_lgmu 70
S -&dx:ﬂ-«f’ ofgj.«J_Z LSp r’f._ﬂf‘.«i.)_’.u,{ i3
PN,
Agbn @)
2 S58.5 (@)
Sl ()
ehA @
ks L 356, J"fjd;...«mfuu;[_u)ﬂ 71
e thifie.
Vil A bt (1)
e bt S (@)
i e bl (3)
RIS, @

T
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72.

78.

74,

75.

76.

produce flowers. Which combination of hormones
can be applied to artificially induce flowering in
pineapple plants throughout the year to increase
vield?-

(1)  Cytokinin and Abscisic acid
(2)  Auxin and Ethylene

(3)  Gibberellin and Cytokinin
@)  Gibberellin and Abscisic acid

Which one of the.following is not a method of
in situ conservation of biodiversity ?

(1) Sacred Grove .

(@) Biosphere Réserve
3 Wildlife Sanctuary
(4) Botanical Garden

Phl_ﬁem in gymnosperms lacks :

(1)  Bothsieve tubes and companion cells
(2  Albuminous cells and sieve cells

3}  Sieve tubes only

4  Companion cells only

Identify the cells whose secretion protects the lmmg
of gastro-intestinal tract from various enzymes. .

(1) Duodenal Cells
(2)  Chief Cells

(8)  Coblet Cells
(&)  Oxyntic Cells

Select the correct group of biocontrol agents.
(1)

Nostoc, Azospirtilium,

Nucleopolyhedrouvirus

(2)  Bacillus thuringiensis, Tobacco mosaic
virus, Aphids '

@)  Trichoderma, Baculovirus,
Bacillus thuringiensis

(4) Oscillatoria, Rhizobium, Trichoderma

17
It takes very long time for pineapple plants to

L-'U[-ﬁ:., Cﬁ.‘::’,! Ltrl’n::r;’z« uﬁiﬁ):?fuybﬁ 2.2: gﬂ{?ﬂ%l

| g it AU L St potag g s S5 S Pl

? e CPU I Lo s it

R6

72

.73

.74

Mr._,i’i;—pu:_i@?ﬂ’ﬂa (1) .
c:‘-f’m’;,ru;f T (2
SEALAZ ()

ALt g (@)

VK AL 57 Yt SIS i G s
=

WS @

<P (@)

ST ()

USS @

AN NPT

AL B i (D)
> H'ﬁﬂj‘*ﬁtfﬁ (2)
ALGESS B

Bl s (@)

T JM: yo s fl:ﬁiﬁ.z Y et

e bfeb
e (1)
=Pz (2)
=l (3)

...-.*.«U:"'b@rr T (@

LS EL Ay

VA S ozt (1)
Kol da TR @)
A B (@
SAALELNET (4

-

.75

.76
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77. Match Column -1 with Column -II. LAl II-HKf LHE’ 'y,
Column -1 Column -11 II HK ¥ HK
(a) Saprophyte (i) Symbiotic association of 24, y o
S fungi with plant roots K‘-ﬁ BeLlunzd vy @ Sy (a)
(b) Parasite (i) Decomposition of dead L
organic matenalls JJ;:‘ y UG I ij'h}f i) 2l (b)
¢) Lichens iify Living on living plants P
© (i) o mgﬁ e gPp Wodsgunsobungis (i) o (©
@ Mycorrhiza  (iv) Symbiotic association of ﬁ'drf'b’f/f Lﬁﬂ'd@ (iv) "}:’*’-’-Vcﬁ L (d)
algae and fungi ", / '“‘h_.f!ﬁ é::,. AP é{.} ra
Choose the correct answer from the options given. | '
below : : d) () (b)) (a)
@ & © @ @ Gv G G Q)
O @ @) v 6 (v G @) @ @)
@ 9 © W o v G @ @ G
® @ 8.0 w @ @O 6@ @
@ @ 0 @ o 8
QPRE Y SERI SRy IO I
78. Which of the following is a commercial blood . 5" :
cholesterol lowering agent ? 20 (M
(1) Lipases Aglae "ﬁ’ 2
@  Cyclosporin A gl (3)
@  Statin . Le @
@  Streptokinase | |
¥ e e wac.ufgzjezﬂg.édﬁgﬁi.f 79
79.  Which of the following is true for Golden rice ? {;_ﬁ% LSl ) e (.:’ Jw;_f JJJ“{? (1)
(1) It has yellow grains, because of a gene St
introduced from a primitive variety of rice. . _ N
@  Itis Vitamin A enriched, with a gene from S BINPSLILS (2)
daffodil. ' Pty il e ST (3)
3 It is pest resistant, with a gene from |py (Fiez ;2 I A N TR
Bacillus thuringiensis. e Yoo 2 K(/E”f f‘LJMH&: )
4 Itis droﬁght tolerant, developed using -
Agrobactertum vector, .
500 mL &7\ rzﬂi.f#d/jf-idk‘gbﬂri'd:ﬁ{dm;wg .80
80. Tidal Volume and Expiratory Reserve Volume of | % /ﬁ»;ﬂl-"dﬁ.;g g—’:./ j JJI fﬂg-f_-%:ﬂ L1000 mL o
an athlete is 500 mL and 1000 mL regpectively. o B I
What will be his Expiratory Capacity if the ¥ ¢-1200 mL Zd!”
Residual Volume is 1200 mL 7 2700 ml, (1)
(L 2700l 1500 mL  (2)
@ 1500 mL
1700 mL. (3)
(3 1700 mL
@  2200mL 22003l )
collegedunlau
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81. CE:].].S 111 -GU pha:SE s : :JL?J&/ GU é‘.ﬁ)d’u .81
(1) terminate the cell cycle e F’ﬂ, W ()
(2)  exitthe cell cycle sl LA JLg,Lo (2)
(3) enter the cell eycle T )
(4  suspendthecell cycle ! Sk (@)

82. Select the correct sequence of organs in the | ;):}".,,g}g B S KB Sl nlsf s .82

alimentary canal of cockroach starting from- [ - | W |
mouth: . - et e S e ol #u—u—f?ﬂl “J2 W
{1)_. Pharynx — Oesophagus — Ileum = ‘/-€<_
Crop — Gizzard = Colon — Rectum L,):JJ( - ﬁ, - L,;f_{__ _;,/_r‘ & JJ?”; i U’if (2)
(2 Pharynx — Oesophagus — Crop - 13“-':,{_
Gizzard — Ileum — Colon — Rectum : .
N o #l « .._?a_f)_/<— S J’Qﬂ! — J','/z:.’ (3)
(3 Pharynx — Oesophagus — Gizzard — ’;Q
Crop —> Ileum — Colon — Rectum sl

(4 Pharynx — Oesophagus — Gizzard — o« "-:-"i/.( = r"J'"' f—ﬁf'f'f— u.’grsl <—~J5;’ (4)
Tleum — Crop — Colon = Rectum f’g" -

83.  Which of the following pairs of gases is mainly | 4% Linfyfete pndiprdod 83

responsible for green house effect ? PR
() Carbon dioxide and Methane ‘ c;i’-;;[j,;'ug WA (1)
)  Ozone and Ammonia Gripigd (2
(3)  Oxygen and Nitrogen Pl u;:’} (3)
(4)  Nitrogen and Sulphur dioxide ST Sttt (@)
84. Variations caused by mutation, as proposed by 90& A—'{:..-,aﬁ d, u%'e'{_ f{fa" gLJ)’JJ“I:dJﬂf .84

Hugo de Vries, are :

5 | Cawnibd (1)
(1) small and directionless )
_ Lo e (2)
(@) random and directional
el (3)
(3) random and directionless
et (4)

S sy IS oo Frpps ol dtdsone 85

(4) small and directional

85, Which of the following sexually transmitted

¢
diseases is not completely curable ? | ot
W« 1
1)  Chlamydiasis ij k . (1)
. | C bad 2
(2) -Gonorrhoea *J; (2)

: et} WA
3) Genital warts st (3)

(4)  Genital herpes e @

T
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86.

87.

88.

89.

20

Which of the following statements is correct 7 -
(1)  Cornea consists of dense matrix of collagen

and is the most sensitive portion of the eye. -

2 Cornea is an external, transparent and

protective proteinacious covering of the
eye-ball.

(8  Cornea consists of dense connective tissue
of elastin and can repair itself.

(4)  Corneais convex, transparent layer which
18 highly vascularised.

Select the hormone-releasing Intra-Uterine
Devices.

(1)  Lippes Loop, Multiload 375
@  Vaults, LNG-20

(3) Multiload 875, Progestasert
4  Progestasert, LNG-20

Use of an artificial kidney during hemodialysis

may result in :
(@  Nitrogenous waste build-up in the body
(b}  Non-elimination of excess potassium ions

©  Reduced absorption of calcium ions from
gastro-intestinal tract

(@ Reduced RBC production

Which' of the following options is the most
appropriate ?

(1) (a)and (d) are correct
@  (a)and (b) are correct
3  (b)and (c) are correct
(4)  (¢)and (d) are correct

Expressed Sequence Tags (ESTs) refers to
{1} Novel DNA sequences

(2)  Genesexpressed asRNA

3  Polypeptide expression

(4)  DNA polymorphism

The Earth Summit held in Rio de Janeiro in 1992
was called :

(1) for immediate steps to discontinue use of
CFCs that were damaging the ozone layer.

2) to reduce CO, emissions and global -

warming.

(3  for conservation of biodiversity and .

sustainable utilization of its benefits.

{4)  toassess threat posed to native species by

Invasive weed species.

[English+Urdu

¢ ;:.{l.ru:’;.:..pﬁ...rtkgfm;y .86
b SR U'Z]Jr:‘fﬂ]c_..ﬂ?urb’.:- D27 @

171
ke s Fou, ol L0 @
Ezg%ﬁﬁjﬁﬁcf U;JJJ’G‘--";;/J':} (3)
L. K.g.:ff))@él?fﬁ L (} o (4)

T

LSO ST g, 8T
375598" Al (1)
LNeLzuf@J, (2)
s g 375 (3)
_ LNG;ZO o« sy (4)
| EE LISl IS 88
PSP
A ASUF T ()
Gt i
Jitmid RBC  (d)
¢ i&-c{}u#}fﬂeﬁﬂ“?gtikw}c:-pﬁd St
8 @ H@
GG By @)
GG QA @)
G DA @
P _(ES'I:‘S);,é 4..;3‘}5 h. .89
w7 MR (1)
Ut AL RNAUE ()
ABEdy (8
(A% DNA (&)
P B L b8 S s s 23 1992 .90
Seh A LMD L L)L CFCs (1)
_,lﬁlﬁ-'uw:(uf
BLLS H;f...iiﬂ.n}y@srcm Co, (2
i&ﬁédwﬂf@%ﬂ&wﬁw (3)
. ws;.ﬁél"-"f—ufig;nfﬁ'»c-dhfuf%ﬂtﬁ 4
—etrt)
o=
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91.

92.

93.

= 95'

fonized hydrogen atoms and a-particles with same
momenta enters perpendicular to a constant
magnetic field, B. The ratio of their radii of their
paths ri:r, will be :

L 1:4
@ 2:1
@ 1:2
@ 4:1

a-particle consists of :

€3 2__pr0toﬁa only

(2) 2.151'01,611.3 and 2 neutrons only

(8) 2electrons, 2 protons and 2 neutrons
@)  2electrons and 4 protons only

Average velocity of a particle executing SHM in
one complete vibrationis:

1  zero
8 Ao

Ao’
= Sy

An electron is accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength
is, (nearly) : (m, =9 x10~31 kg)

) -122nm

2 122x10"8m

3 12.2x10"12m

@ 122x10-4m

Iﬁ an expe'rinientj the percentage of error occurred
in the measurement of physical quantities A, B, C

and D are 1%, 2%, 3% and 4% respectively. Then
the maximum percentage of error in the

AZB%

measurement X, where X = Ey#m

, will be :
tp3 -

O 10%

3_
o (5

(3 16%

4 —10%

21

O’fb"’"ﬁ""tfrfh_’/- u(fﬂuL—gr:.rbjuﬂlﬁlu’wghﬁcj’!f
J‘BL ul.!"""'l‘.n"‘_/.. O om d&bc{jﬂfé JOFr U:BU’JE:"

: fﬂ@*’g{ 5% g o u:/”“'

1:4 (1)
2:1 (2
Led—(3)
4:1  (4)

RN CE
g2 (D)
W2 Yghy 2 G2 (2)

Wi 2 sl gy 2 e (3)

(_,;J;:,; 4 sl L'ﬂ/ig_f_ 2 3 (4)

L/:JL?;-JIJ{-.GJ._L_J_;J/E_!?LI( J]&f)&g)%) SHM

1%'161,&/?]
Ve
Aw

7 ®
JAe (8)
AaZ:
g )

Sl bW iti 2 3L 359 10,000 VI
(m,=9x 10~ kg) [ Fa gt

12.2nm (1)

12.2x10-¥m"  (2)

12.2%10-12m  (3)

122X10" 4 m  (4)

y'é"'}é’"ﬂwygd’ D . C<B<A uj;lﬁ*dﬁbtfidf
il n e Pl X it 4% 8% 2% 1% 2P

g X = i;?jj Lo
10% (1)

E ©

16% (3)

~10%  (4)

R6
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.93
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95

collegedunia:s

India’s largest Student Review Platform



R6 29
96.  Six similar bulbs are connected as shown in the S DO L }‘ﬁl?&f il Femfl s .96
figure with a DC source of emf E, and zerointernal G o '
resistance. M&:gdﬁ d/ R e L Ll & PE b
The ratio of power consumption by the bulbs when ¥ J; VAL Udr S s
(1) all are glowing and (i1) in the situation when _ "
two from section A and one from section B are | la&B@ntne Ao (i) #lun izt i (1)
glowing, will be : i
=N sk
-
—— —> A B
AR AP
X
| : E
'E
ZEL (D)
a  2:1
1:9 (2
2 4:9
@ 9:4 9:4 (3)
4 1:2 1:2 (4

97.  Which of the following acts as a circuit protection b8 )@Tﬁ{éﬂ@fdd.@ﬂ .97

device ?
O fuse i (1)
@  conductor Gy @
®  inductor i @)
(4  switch ér’ (1)

98. Pick the wrong answer in the context with s g o
- L E T eend Sl s 98
(1) Rainbow is a combined effect of dispersion, i PR B A [b:f'iul.‘::‘iéf.&%;d/ Cose oy (1)

refraction and reflection of sunlight. '
sl e B TS '
(2)  When the light rays undergo two internal el ”J?ﬁ’ % J : J(u:;Ju?:H} 2)
reflections in a water drop, a secondary ,,f_.d&ﬁf"ﬁ;dﬁ{mﬁ?pgd;ﬁ
rainbow is formed.
(3)  The order of colours is reversed in the ""*Ldﬁd}lﬁj&bfjdﬁ}dﬁ (8)
secondary rainbow. - w B &
B bbb B bociynedl (@
(4)  Anobserver can see a rainbow when his front ‘ |
is towards the sun. il
collegedu nias
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99,

100.

101,

102,

The radius of circle, the period of revolution, initial
position and sense of revolution are indicated in
the fig.

JFJIL

¥ - projection of the radius vector of rotating particle
Pis:

7t
@ y®=3cos (_2'“) , where yin m

2) y{t)= ~3cos2wt, whereyinm

;o [k :
3 yB)=4sin (E] , where yin m

31t
@ y®=3 WS(TJ, where ¥ in m

Two similar thin equi-convex lenses, of focal length
feach, are kept coaxially in contact with each other
such that the focal length of the combination is
F;. When the space between the two lenses is
filled with glycerin (which has the same refractive
index (u = 1.5) as that of glass) then the equivalent,
focal length is Fy. The ratio F; : Fywill be :

O 3:4
@ 2:1
@ 1:2
@ 2:3

In total internal reflection when the angle of
incidence is equal to the critical angle for the pair
of media in contact, what will be angle of
refraction ?

1 90

@ 180

3 |

4}  equal to angle of incidence

For a p-type semiconductor, which of the following
statements is true ?

(1)  Electrons are the majority carriers and
pentavalent atoms are the dopants.

(2}  Electrons are the majority carriers and
trivalent atoms are the dopants.

3)  Holes are the majority carriers and trivalent
atoms are the dopants.

(4) Holes are the majority carriers and

pentavalent atoms are the dopants.

23

s bd’y JU%JQ'{' EoS b Teumhafumds Lf:./'f /’ﬂ;h.mﬂ(’_/. o713
ny,ﬁMz’i P-wjﬁ.ﬂl./rpﬁ):?;(jﬁ/wﬁijﬂy@
S P

P(t=0)

¥4

T=4sg

» X
(et mou) 20 =305 |
(e meyUz) y(®)= -3 cos2wt  (2)
(et moulz) ) =3 ms(%) (4)

e fJ‘:JLF;’JH-.@Eﬂ—uﬁwa‘fuf"ﬂjvﬁ-tﬁb‘%ubgn
F IS bW ALV G P Gt ety f]
e bebfe o AL dsSutuiseae T iU
S S 3 st7 (:f..’f&f”ﬁ:{;..gﬁ: ew=1,5 B3I )

e Fy By ..:.-.-»;—L:_ Fy

3:4 (1)
2:1 (2
1:2  (3)
2:3 (4)

L,z..jﬁ[_whﬁ.w:gv"{,ﬂgmhﬁ;ngéyjlt}/
¢ Bw gJWE:U?:;..d;VZ. ‘.:;ﬂ.}[_}j& il

90° (1)

180°  (2)

A €
ALl (4)

¢ ﬁu#)}wgbwfc;gﬂii@ﬁé—ﬁ J¥ W‘r&(jp

ST G S EF )
-t (anant);b’uﬁﬁlt}sx—qﬁ s S ﬁ/fuﬁgi (2)
TS pen S e (3)
AT N ha G P ()

-
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103.

104.

105.

106.

107.

A body weighs 200 N on the surface of the earth.
How much will it weigh half way down to the centre
of the earth ? '

(1) 100N
@ 150N
@) 200N
@ 250N

A force F =20+ 10y actson a particle in y-direction
where F is in newton and y in meter. Work done
by this force to move the particle from
y=0toy=1mis:

W 204
@ 30d
@ 5J
4 257

A block of mass 10 kg is in contact against the
inner wall of a hollow cylindrical drum of radius
1 m. The coefficient of friction between the block
and the inner wall of the cylinder is 0.1. The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinder is
vertical and rotating about its axis, will be :
(g=10m/s%)

(1) 104rrad/s

@ 10 rad/s
(3) L rad/s
2

(4) 10 rad/s

In a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on-a screen placed 1 m
away, was found to be 0.2°. What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?

(p‘water =._4"’ 3)

1 o0r
2 0.266°
3 015
@ 005

In which of the following devices, the eddy current
effect is not used ?

(1) electric heater
(2)  induction furnace
(3) magnetic brakingin train

(4)  electromagnet

24

English+Urdu ]

S5 bl Letie 200 Nuiyets Uy 103
¢ Bl b1 26 (o
100 N (1)
150 N (2)
200 N (3)
250 N (4)
F Ulz-s bt y wrppss’ F=20+10y =387 104
e y=0 3 Z“.,Jjaf. :«;J! Wl y.uf%‘ﬂ Jx
; ?rfﬂwgpfgjdf?fy=lm
205 (1)
30d (2
bd (3)
%5 (@
A3t S b AL B s 1 m e i6ed 10 kg 1105
0.1ee AELLtgsdomit St e Ve
éxcf’/ L-’J‘:Clg ;.n" %J/r u%;.;/;z.Jf%.fﬂfﬂdwufﬁ” '-.._..-'-1’.;-4*‘:-
(g=10 m/s?) : fﬂxﬁ;d&:li@?ﬁ;{i_!ﬁ“b@é_fﬁ
107 radls (1)
J10 radls  (2)
10
-2—1_; rad/s (3)
10 rad/s (4)
?Lﬁ.{di‘pfﬁj;{@fd:b 400 nm »T-n&ulf{_.f:‘dwfv‘dﬁﬂ 106
& 02288 e bi& e so sz nds 1 1m
Qpiilebid iz bt Qf ey g
( o —4/3) ¢ Seylise
0.1° (1)
0.266° (2)
0.15° (3)
0.05° (4)
3 ?ﬂﬂUWiff&/d'deu'{;:.-ufcgﬂfdjf;ﬂ 107
s (D
S @)
Lasfmtuptt,  ©
u':fb wds (@
collegedunlaa
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108. A solid eylinder of mass 2 kg and radius 4 cm is f})ﬁﬁjf&.is;iﬁf‘ﬁbﬁﬁdfﬁﬁ._jﬂj & \:‘;{ 2 ke .108
rotating about its axis at the rate of 3 rpm. The i

torque required to stop after 2 revolutions is : éﬁis;&lﬁﬁuﬂ)} 2«-:5.1;;)35!/5&6;15 3rpm

1) 2x105Nm : B g
@ 2x1076Nm 2x106 Nm (1)
3) | 2%10"3Nm 2%10~6Nm (2
@ 12x1074Nm 2x10"3Nm (3)

g 12x1074Nm (4
109, A copper rod of 88 cm and an aluminium rod of

unknown length have their increase in length 5 ; . p o
independent of increase in temperature. The length AN JF A Jdb’r bl S £ ’( 488 cm ,109

- * " i s — -—1 i * x "
of aluminium rod is : (e, =1.7% 1070 K™% and e SUE A e b i g L
oy =2.2%10"8K~ 1) P :

(ﬂtﬁl=2.2>< 10_-5 K_]-,fjf a{ju= 1.7% 10—5 K- 1)

(I} 68cm

@ 6.8cm 68 cmn (1)

® 1139cm 6.8 cm  (2)
88 cm  (4)

110, A cylindrical conductor of radius R is carrying a e G T
constant current. The plot of the magnitude of *‘?"!’”f O ‘-‘g‘"k}:tﬁ*"l}[f L R/‘” i 110

the magnetic field, B with the distance, d, from | _ = .. . W il iy
the centre of the conductor, 1s correctly eendlld ﬁbi'&é:d‘r{“‘:d”‘{&uﬁ’&w

represented by the figure : s %Lﬁtﬁ“ e I
B. B :
W i
(1)
_ R d
B ’—K
@ : | (2)
' R d
B B
3
3 @)
R d R d
@
(4)
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111. Two particles A and B are moving in uniform

112.

113.

134,

O 002V

@ 2V

@ 02V

@ 2x1073Vy

26

circular motion in concentric circles of radii
rs and rp with speed v, and vg respectively, Their
time period of rotation is the same. The ratio of
angular speed of A to that of B will be -

O 1:1

@ ryirg
@ vy:vg
4 rg:r A

The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 m/s and is flowing
due east. If he is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes
w.r.t. north is given by ¢

(1) 45° west
2) 30°west
B8

4@ 60°west

A soap bubble, having radius of 1 mm, is blown
from a detergent solution having a surface tension
of 2.5 X 10~ 2 N/m. The pressure inside the bubble
equals at a point Zy below the free surface of water
in a container. Taking g=10 m/sZ
density of water = 103 kg/m3, the value of Zgis:

(D 05cm
2) 100cm
@ 10cm
4 1lcm

A 800 turn coil of effective area 0.05 m? is kept
perpendicular to a magnetic field 5X 10~5 T,
When the plane of the coil is rotated hy 90° around

any of its coplanar axisin 0.1 s, the emf induced
in the coil will be :

}’}f‘?ﬂ. it i) ¥y SESIPEIAN B A i
_Lj%f;(wl_pf%.;/w&d?d/ugﬂl uA.,gﬁgu:u:}u
Ld? JL:UJB JJ&-&I,:UJA ;ﬁ.uL—E)u::!;dmb’a*{':?

e
1:1 (1)
rairg  (2)
vpivg (3)
rgiry  (4)

SOt Lisg 20 mis ol 2t gz
ﬁ%}!%%gjb({éﬁqiﬁ-%uf@JJ/iﬂ% 10 m/s dk
eS8 LS e S e Pty bt e 2 gy

Ty

M 45 (1)
-/’ 30°  (2)
0°  (3)

" 60° (4

GL’ 2.5%X1072 Nimee 1 mm S 296 b LiK e
AR LBSLE o bl il st
ﬂﬁ.djw.f,ig}{ Zy ﬂé;&l,}f@( dk

Py JZDIL:?@:A&/JG& =10% kg/m?, g=10 m/s?

05 em (1)
100 em  (2)
10 cm  (3)
lem {(4)

5X 1075 Totys2 b (52 005 m2 3 s £ 800 114

W'Z.afﬁ 1 fu’f Z, dﬁ’ﬁﬁﬂ_’:uﬁ-{_ f@d}fc’.’
o emt dtd st S bl 90° U 0.1 ¢

0.02V (1)
2V (2

0.2V (3)
21073V  (4)

111

112

.113

T
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In the circuits shown below, the readings of the

115.
voltmeters and the ammeters will be :
10 Q i 100 7 i
NAAANS >
o— & L;:@ By
= —
10V 10V
Circuit 1 Circuit 2
1) Vo>V, and i;>1,
@ Vy>V, and 3;=1
(3) V1=V2 and 7, > iy
@ V=V, and =iy
116. Body A of mass 4m moving with speed u collides
with another body B of mass 2m, at rest. The.
collision is head on and elastic in nature. After
the collision the fraction of energy lost by the
colliding body A is -
5
o 3
o L
&
5 O
® 3
o 2
@ 5
117. When a block of mass M is suspended by a long

wire of length L, the length of the wire becomes
(Li+1). The elastic potential energy stored in the
extended wire 1s :

1 P
@ Mgl
3 MgL

1
@ 3 Mgl

27 R6
Skt SR b e tud d e g 115

08, &
— &
|
10V
1e/

iy >, MV, >V, (1)

P> i, s V,=V, ()

i=iy MV =V, (4
(;Z.\:A;;{ 2m Lﬂl.f;v(?c.-udk A f‘ﬁfﬁl\:«! 4m .116

,.:fca'_.B[gL @b@hr‘} L;L% t’z‘?‘) L.;J*:;:_ u:cjs"/':.rfb.ﬁ’f:.- B
Z A (}'{_T.:/T’J Lol L (" L-J..%.Jug;.a! (head on) /‘f/

:'fﬂ/JJblI’J}séu,f.;s
o
g W
1
5 @
8
g O
e
g W

STt L hd L8 LAE L Meda 117
: (fyz(jL'I;?;ug_ém/éip@hﬁ@'?lf.aigﬁ (L+1) Ju

1

5 Mgh (1) -
Mgl (2
Mgl  (3)

1

5 Mgl (4)
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118. A particle moving with velocity ? is acted by three
- forces shown by the vector triangle PQR. The

velocity of the particle will .
P

A

R Q

—

(1)  change according to the smallest force QR
(2) increase .
(8)  decrease
(4) remain constant

119. At a point A on the earth’s surface the angle of
= + 25° At a point B on the earth’s surface

dip, &

the angle of dip, = —25°. We can interpret

that :
b

vy
(3)

@

A and B are both located in the southern
hemisphere.

A and B are both located in the northern

‘hemisphere.
‘Ajislocated in the southern hemisphere and

Bis located in the northern hemisphere.

Aislocated in the ',uorth_erxi hemisphere and
Bislocated in the southern hemisphere.

120, When an object is shot from the bottom of a long
gmooth inclined plane kept at an angle 60° with
horizontal, it can travel a distance x, along the
plane. But when the inclination is decreased to
30° and the same object is shot with the same
velocity, it can travel x, distance. Then x, : x,

will be :
B 1:248
@ 1:42
&) \E il
@ 1:43
121. Increaseintemperature of a gas filled in a container
would lead to :
(1)  decrease inintermolecular distance
(2) increase inits mass
(3)  1increase inits kinetic energy
(49 decrease in its pressure

28

[Eraoti]

&.ﬁ*uﬁﬂtuf Lﬁ.x..ﬁgf fuf'{uJiu/ i.ﬁ.d';/arfcg. ? i .118
: JE;&JL:E.“L@Q:QJJEZ PQR

R Q
Ard e crvd QR Ao )
bdais (2)
Setdr  ®
et (@
,Eﬁziw;i’.,f_ 3 =+25 ylkpstiy A ﬁuﬁimﬁ’ 119
SHE S F e 8= —25 Yl B
_L,ggi,ufa/._&d@ﬁu}n BastA (1)
S iU BAA (@)
e O /e B ale Chte/idfzA ()
e Cnte i B i Stn SR (8)
1.5&;u,_,;uﬂ(@n;;_ggﬁdﬁ—iﬁﬁﬁé.gﬁf&ﬁ 120
N §IE. S x, (65T b 60° &
1y 009t e TWE S plo S 30 LS
gty o g et
1:2+3 (1)
1:V2 (@)
v2:1  (3)
1:43 ()
1¢-i-lﬂ’;‘4m'févﬁﬁﬁd/fu¢u&f 121
cbaflebdy b )
«Freddy (@)
< 5 @)
¢l 3bl (4)
collegedunias
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122,

123.

124,

The displacement of a particle executing simple
harmonic motion is given by

y=Ay+Asinat+Bcoswt.
Then the amplitude of its oscillation is given by :

1) A+B

@ A, + VA? + B?
@ JA?+B?

@ JAZ +(A+B?

The work done to raise a mass m from the surface
of the earth to a height h, which is equal to the
radius of the earth, 15 :

D — mgR
@ meR
3 2mgR
4) % mgR

Two parallel infinite line charges with linear
charge densities + A C/m and —\ C/m are placed
at a-distance of 2R.in free space. What is the
electric field mid-way between the two line
charges ?

A

: ' N/C
@ 2meg R
(2) zevro
2\
/
(3} 'TF'EﬂR N C
A
“) piy NiC

125. A hollow metal sphere of radius R is uniformly

charged. The electric field due to the sphere at a
distance r from the centre:

()  decreases as r increases for r < R and for
r>R

(%) increases as r increases for r <R and for
r>R

(3)  zero asrincreases forr<R, decreasesasr
increases forr>R

(4  zero asrincreases forr <R, increasesasr

increasesforr>R

29

g .‘L.t'bpgp (BJ.;U,( t w2 S L}}"Jl;ul/

y=A,+A sinwt+B coswt

: S2_ el nd
A+B (1)

Ay + m (2)
JAZ+BE
AratB? @

Letih ﬂ‘érkﬁ;ﬁiﬁf h Jlf:f.z,:ot}.é’f m -:'»:.{L{(

: gyﬂr K#Lfa%ﬁ_-,@ el /5’"-..3-@’
S mgR ()

mgR  (2)

2 mgR  (3)

% mgR  (4)

42 Cm P PSR b FE B
gixgﬂi.h;:l}f{é‘iiil:?ﬂ :.-4./;.!..{‘@[5’ —xC/m

)8 @f g’cﬂg&,;;!;ﬁd!”:uw;&umgob Uﬂjﬂwlﬂ
A

N/C
2megR (1)
& @)
21
/C
R )
A
— N/C :
TEp (4)

Py L-r;;..t"g gﬁ/ﬂg,; J}bﬂﬁfé—fg){ (:; s lf( ZR /5...5»&"
: diﬂg-_«*d",{.::.,.g:&._'/c;&{i r :::..}fr

tnf ALyl r &L Ulr>Rar<R (1)
4

cloxflenl v Lx>Rair<R (2

L Lr>RupALenlrd L r<R (3

_ -;E..b'!{};f"bfé:&iz& r
dLr>Ru phllimnl vl Lr<R (4
_,,;.wﬁwiazﬁ r

T

Ré6

122

123

124

25

collegedunia:s

India’s largest Student Review Platform



R6

126.

127.

128.

129

30

The total energy of an electron in an atom in an
orbitis —3.4eV. Its kinetic and potential energies
are, respectively :

()  3.46eV,34eV

@ ~34eV, ~3.46V
@ —34eV, —686V
@ 3846V, —6.8eV

A mass m is attached to a thin wire and whirled
inavertical circle. The wire is most likely to break
when ; .

(1)  inclined at an angle of 60° from vertical
(2) the massisat the highest point
(3) the wire is horizontal
4  themassisatthe lowest point
+8V

0 x

Al _SLED (v)

i i

B 1

v

The correct Boolean operation represented by the
circuit diagram drawn is :

1) NOR
(2) AND
@ OR -
4 NAND

A parallel plate capacitor of eapacitance 20 pF is
being charged by a voltage source whose potential
is changing at the rate of 3 V/s. The conduction.
current through the connecting wires, and the

displacement current through the plates of the

capacitor, would be, respectively :

(1) zero, zero

@  zero, 60 pA
@  60pA, 60 A
4 60 pA, zero

MEPES e84 &V SUIS LML Sy /%/ V126
(ur W) Uguized
3.4eV.si3d4eV (1)
—34eVui-34eV ()
—68eVusi—34eV (3)
. —68eV.l34eV (4)

collegedunia:s

S BB S i L S Wb e G o 2K 127
: a,lag_gulé-ua;g;a,.,ﬂb’&ﬁéi
:«:ﬁ;,w& 60*’";.56»’ @)
m.&»str_IJ @)
R )
ﬁj,.!zn‘d.fd’f%.iuf (4)
,;J’J;w,;u‘“g»w@ruﬁu J.w.» 128
$+6V -
o
& —3LED (V)
0 2R
{
(NOR) 4 (1)
AND) &' (2)
(OR).T  (3)
(NAND) & . -(4)
g@;g@.&ﬁ#;gﬂéiu’ ;fg;w;r;».,grfw 20 pF .129
Lib Sl e punf e UAS 3 Vis 198 Pec il
Jw %;éfﬂi:-, oﬁ-uﬂ;gtf /-{:wf Jﬂﬂr"ﬁ:—-ufauﬁuut"
: LusteaPiars)
At (D)
60 A s} (2)
60 A 60 uA  (3)
A sl 60 pA  (4)

T
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[EnglsheUidu] 31 k6
180. The unit of thermal conductivity is : s e SEISedely J A7 130
1 WmlK-1 Wm-1K-1 (1)

@ JmK-! JmK-t (2
@ dJdmlK-? Jm-VK-1 (3)

4 WmK-1 WmEK-1 (@)

131. Inwhich of the following processes, heat is neither L;;J,féaﬁijfﬁ;dfuﬁ (process) L){)f‘-__ St 1181

absorbed nor released by a system ? ‘ ’ i
‘ : ?-:.r_dﬁp
(1)  isochoric g i .
(2) isothermal rg':” J" 2
. : ( r.? ‘).. _ }IT 5
(3) adiabatic %t :; )
. - Jr!
4  isobaric (a7) Bl (8)
182, Two point charges A and B, having charges ('J["rﬁ) "'GL*'HT @
+Q and —Q respectively, are placed at certain o B me B s o mi »
distance apart and force acting between them is e ~Qul+Q "-‘*‘-‘"’/JLE-"*’L”:' B alA Crgd¥s 182
F. 1f 25% charge of A is transferred to B, then | o eI fui.».mf.umlwﬁ_ﬁéyEED{L:_,/J:
force between the charges becomes : ' R ! -
Henl Yrse e elo /Y B sl 25%K A Sl
4F B o
(1) 3. : L;F:.«J’Lﬁjj
w
@ F = W
9F CF@)
® 715 9F 5
e ©
168 16F
@ 5 g @

N § i s : e g -
183, Which colour of the light has the longest | | 07 (WavelengthitrU "’—L""""-':ff"é"/‘f'@ 133
wavelength ; () ek (D)

1) violet Ji@

2 .red A )

(3} blue L’I (4)

4)  green o G " 7
AL e L F S e dudn S0 2 m 134
184. A small holé of area of cross-section 2 mm?2 ig | <& z'é..-gtli} m/s? -._.q...i,«bf w:@’..ﬁﬁ,?;d" 172 mm?
present near the bottom of a fully filled open tank. e Lf e e B o U i
of height 2 m. Taking g=10m/s?, the rate of flow - L Piionls J’tﬁédi&" L nZ !
of water through the open hole would be nearly:
6.4x10"8m¥s (1)
() 6.4x10-%m¥s o
: _ P 12.6x10-8md/s  (2)
2 12.6x10-8md/s |
8.9x10-%mds (3)
3 8.9%x10 - mds
2.23x10"% m¥fs  (4)
(4 2.283x10-8m3/s :
collegedunlau
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Ré6 32

135. A disc of radius 2 m and mass 100 kg rollson a ey, 239 8 T S ¥
horizontal floor. Its centre of mass has speed of "EEUG/';IJ/!L;’ JJL?J%{ 200kg HPAS 2T ;185
20 cru/s. How much work is needed to stop it ? L)’f’ﬁ’i‘?’é.é:iyfu l-e— 20 cm/s d!’ad/ }5".:‘!&'__)‘ !

L 1J ¢ JmfﬂfJ
@ 38d 14 (U
@ 380kJ 3d (2
4 2d 30 kJ  (3)
: 2d (4

136. For the second period elements the correct
mcreasing oxder of first ionisation enthalpy is : ] uf’uét;:,oé{ﬂ:f%- g i mzeyd & /;g_fﬁ e pss 136
(D Li<Be<B<C<Q<N<F<Ne Li<Be<B<(C<0O<N<F<Ne (1)

2 lLi<Be<B<C<N<O<F<Ne Li<Be<B<C<N<O<F<Ne (2
3 Li<B<Be<C<O<N<F<Ne Li<B<Be<(C<0O<N<F<Ne (3)
(4) Li<B<Be<C<N<O<F<«<Ne Li<B<Be<C<N<OQO<F<Ne (4
137. Which of the following is an amphoteric j’pfﬂjx’gjﬁ{w,f;,tﬁt_}j;,p 137
hydroxide ? ' I
¥ « (amphoteric hydroxide)
(1)  Be(OH),
Be(OH), (1)
@  Sr(OH),
@  CaOH), Sr(OH),  (2)
4  Mg(OH), Ca(OH), (3)
Mg(OH), (4)

138. The number of sigma {(0) and pi (w) bonds in | |
pent-2-en-4-yneis: LA () St ()WL pent-2-en-4-yne .138
(1) 13 obondsand nowbond u:( ” bondéf;;l 13 o-bonds (1)

(2) 10cbonds and 3 whonds S bonds 4 10 o-bonds  (2)
3) 8obondsand 5 wbonds B Dol Ba-bends  (9)
40 11obondsand2+rbonds 9 bonds s+ 11 o-honds  (4)

139. Which of the following series of transitions in the LT}!";ZZ pj‘g 1L r}f e 1% /d"ﬁ'ﬂ} Lo J’u Souar 189
spectrum of hydrogen atom falls in visible {,1 G 1 . . o B
region ? ¢ LU (visible region) Jikdts
() Brackett series L/ ks @)

(2) Lyman series 2200 (2)

(3) Balmer series J.C/"/‘I L (3)

(4) Paschen series Y94 u'ﬁ{- (4)
collegedu nias
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140. The major product of the following reaction is :

COOH

strong heatin
+ NH;——2 N

COOH

~ ,NH,
NH,
; COOH
CONH,
O
)] NH
(]
COOH

NH,

141. Conjugate base for Bronsted acids H,0 and HF
- are :

(1) Ha0t and HoF ¥+, respectively
2 OH~ and HoF*, respectively
@) HyO* and F~, respectively

4 OH andF—, respé ctively

33

g f‘a:ﬁbfis{,ﬁ f;..uff{«*(,!: Spuser

COOH

strong heatin
M Pk e, AN

COOH

NH,
(1)
NI_{I2
COOH
| (2)
“CONH,,
(3)
O
.COOH
(4)
NH,

RS L HF s HO il

R6
149

141

(respectively) o2 ‘H,F+ .l H,0* (1)

(respectively) w7l ‘H,Ftus OH~  (2)
(respectively) w7t < F— ol H,O0* (3)

(respectively) /L F- 0l OH-  (4)

-

collegedunia:s
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142, The mixi{uré that forms maximum boiling g}glﬁﬂ,j (maximumesfie ssfi# (mixture) o7 Ll 142
azeotrope 18 :. ' ' ' ot

v, euoN g
(1) Heptane + Octane d‘;‘f N ._ﬁ;“ s
2 Wat.er+bfitric acid B _1;"- "i:+{‘5!; @
(3). Ethamnwgter Jg v @)
(4)  Acetone + Carbon disulphide e LEL-JIEL;(;E' + A (4)

143, Match the Xenon compounds in Column -Iwith | ¥& &£ ILA6/ (structure) 3L (bl i LT ¢ 143
ii:s;’z;c{f;;'eeéin Column - II and assign the ", S (Mateh) e Vs
Column - I Coluran -1 IL¢¢ I
@ XeF, @  pyramidal Jelr @ XeFy a)
©  XeF, D G G XeF, (b)
© XeOF, (i) distorted-octahedral Jaakes i) XeOF, (o)

@  XeO, (v) square pyramidal Jirg i (v XeOy (&)
Code: T
@ G © (@ d) (@ O» (@

O @ ™ O @ i) @ Gv @) (1)

@ @ @ G Gv v) @iy G @ (@

@ G G @ 6 @ Gv)y (i) () (3)

@ @ @ 6O vy @ @) @ @

2L 144
144. For the cell reaction
2Fe?*(aq)+ 21~ (aq) — 2Fe? t(aq)+L(aq)
2Fe3*(aq) + 21~ (ag) — 2Fe?* (ag) + Ly(aq)
Lif!(.f*{fikvégu)‘-lﬂ Econ= 0.24 V.. 298K
EQ;=0.24 Vat 298 K. _The standard Gibbs B
energy (A,G®) of the cell reaction is: ‘
.[Giveﬁ that Faraday constant F=96500 C mol ™~ ! G000 i %g:d&ijﬂf_ibﬁi
1)  23.16kJ mol~1 23.16 kJ mol"1 (1)
@  —46.32kImol ! —46.32 kJ mol"?  (2)
@  ~23.16KJ mol~! —23.16 kJ mol™*  (3)
@  46.32%J mol~1 whde B el 1@
collegedunias
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145. An alkene “A” on reaction with O3 and Zn—H,0

146.

147.

gives propanone and ethanal in equimolar ratio.
Addition of HC to alkene “A” gives “B” as the major
product. The structure of product “B” is -

cH
H,C-CH-CH
W S
Cl CH,
s
@  Cl-CH,-CH,—CH
]
CH,4
CH,Cl
|
3  HyC-CH,-CH- CH,

CH,
. } _
@ H3C-CH,-C- CH3
: f
cl
What is the correct electronic configuration of

the central atom in K,[Fe(CN)¢] based on crystal
field theory ?

W et
t eg
(B  ty e
@ &

Among the following, the one that is not a
green house gasis :

(1)  sulphur dicxide
(Z)  nitrous oxide
3) methane

@  ozone

35

Ré6

g P P L In—H,000, £ NPT 145

= UL HCIA “A”cz;ﬂ 7_.;.*- L?.;(ratic)..,wl:'»'/fd:g ng
' é—(structure) =3 VK“B.”&G;}{-%L@,J“BQﬂj{ﬁ I

iy

I

CH,
CH,Cl |

| .
HyC—CH,~CH-CH, ©)

o
HyC-CHy~C—CH,
Cl
B8P Bt K [Fe(CN)g) plidsndiatS 146
:u:/bgw?fx.ﬂ/..&’l);gl
et
t2§ é: (2)
tyg & (3)
€t @
© e SN S e A 147
TS )
VA @
o @
Wel  (4)

T
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148.

149.

For the chemical reaction
Ng(g)+3H2(g} = 2NHz(g)
the cori‘éct optionis:
dH,] d[NHS]
3 e D02
& g at
, o LdH)_ 1 dNHg
@) 3 dt 2 dt
d[N;] d[NHj]
~ =2
@ a dt
_d[Np] _ 1 d[NHg]
@ dt 2 dt
The correct structure of tribromooctaoxide is :
0%- - 4"0 _
| —=Br—Br~Br-
) 0 //r El"r %r O
O G O
O
RN
O=Br—-Br—-Br=0
2 Oé'r P
0 0
O
Qe Gt 7
® O}Br“f."i‘ Bg”
g
O i
N TR
O—Br—Br-Br=0
e DT DETRES
O 0 0.

150. Which is the correct thermal stability order for

H,E (E=0,8, Se, Teand Po) ? -

() H,Se <H,Te < HPo < H0 <H8
@  H,S <H,0 <H,8e <H,yTe <HyPo
3 H,0 < H,8 < HySe < HyTe < HyPo
@ HyPo<HyTe < HySe <HyS <Hy0

36

ErEmen)

ALK a8

Ny(e)+ 3H,(8) = 2NHy(e)

3

dfHs] -, d[NHg]
dt = dt (1)

_ 1 dfHp] _ _ 1 d[NH]
3 at 2 " dt. @)

ANyl . dINH]
dt 2 (3)

& 2 dt (4)

. ¢-(correct structurey=s E-fg 74 '-*ff'?ff-*’uﬁ!f .149
W S0 Bear i
O% b /0' _
O=Br-Br—Br-0 1)
o A o
0
O
o i
_ o O
0
0% [ .
0.=;/Br — Elzt]'.' - I}\r :O (3)
. O —
O 0
O-Br=Br-Br=0 (4
0O 0O 0
¢ st L L HE 150
(E=0, S, Se, Te, Po)
H,Se < H,Te < HyPo < H0<H,§ (D)
H,S <H,0 < HySe <HyTe<H,Po  (2)
H,0 < H,8 <H,Se <H,Te<H,Po  (3)
L HPo<H;Te<HSe<H,S<HO (9
collegedunlas
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151, Which will make basic buffer ?

152.

153.

() . 100 mL of 0.1 M HCI+100 mL of 0.1 M
~t NaOH

@ 50 mL of 0.1 M. NaOH+25 mL of 0.1 M
CH,COOH

(3 100 mL of 0.1 M CH;COOH + 100 mL of
0.1 M NaOH |

4 100 mL of 0.1 ‘M HCl+200 mL of

Under isotheimil condition, a gas at 300 K

expands from 0.1 L to 0.25 L agaifist a constant

extérnal pressure of 2 bar. The work done by the
gasis:

[Given that 1 Libar=100J]

O  30J
@ ~-80J
3 b5kJ
@ 25J

The manganate and permanganate ions are
tetrahedral, dueto:

(1)  Thew-bonding involves overlap of d-orbitals
of oxygen with d-orbitals of manganese

(2) The f-'bnﬁdiﬁg involves overlap of p-orbitals
of oxygen with d-orbitals of manganese

@  There is.no - bonding

(4)  The = bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganese

37

¢ 62 b A Lapie Ly

100 mL of 0.1 MHCI+100 mL of 0.1M (1)
NaOH

50 mL of 0.1 M NaOH+25 mL of 0.1 M  (2)
CH,COOH

100 mL of 0.1 M CH;COOH+100 mLof  (3)
0.1 M NaOH

100 mL of 0.1 M HC1+200 mL of 0.1 M (4)

NH,OH

300 K (isothermal condition) (2 =/ bJ,ﬂ?r’/TJ{.Q
S L3k 2 bar g (4 0.25 L 0.1 L

[eils 1 Lbar=100J]

30J (1)
-30d (2
5k (3)
2%J (4

: d‘:..,..?jd' L.-.ﬂ-.' (,JJJ:-;H/EJQF Tg,:}g; l;k;;l.;._kg‘

L ;@ s d-orbital £ f*{f o w-bonding (1)
.-@Lﬁg)@gﬁgﬂf d-orbital

s p-orbital £ o Tt (w-bonding) f4 0L (2)
i 2..::_{,)'_ Br ot d-orbital il [Q-

ot w-bond $SAU

J f@ "l ﬁ;orbital . u’f/'f' & w-bonding (4)
<Lt ot Bt ?»,JJ:II p-orbital

T

(3)

R6

151

152

153
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154, 4d, 5p, 5f and 6p orbitals are arranged in the order palld ..,Lf.L: ?’vﬁ!-ﬁﬁf— df’&ﬂgfp’%ﬂ 6p o 5F <5p «4d .154
of decreasing energy. The correct optionis: : .
. ¢ VA Fé‘a

5 > 6p > 4d > 5p (1)

(1) Bf>6p>4d>5p

9 5f>6p > 5p > 4d
2) P = 5p 5{ > 6p > 5p > 4d (2)

(3) 6Gp=>5f>5p=>4d 6p > 5> Bp > 4d (3)

4)  6p>5f>4d>Dbp 6p > 5> 4d > 5p (4)

155. Which of the following species is not stable ? U (stable) fgj(sf’e‘:i%) e e i 155
v tutix

@D [SiClg)%~
[SiClgl2~ (1)
@  [SiFgl®~

_ [SiFg]2~  (2)
@  [GeClg]?~

11,12 3
@  [Sn(OH)gP>~ [GeClgl®™  (B)

[Sn(OH) 2~  (3)

166. The biodegradable polymer is:
A Sy 156
(1) Buna-S
ty-8 (1)
2 nylon-6,6
" 6,6-Jt (2

Jraie 3

Ji-6 (@)

(3) nylon2-nyloné

(4) nylon-6

157. .Which of the following diatomic molecular species | -7 0 _ﬁ»...;,ji TS Sior Bl 8 mf"ji AN 187
has only 7 bonds according to Molecular Orbital

Theory? - L lrk w4 (species)
(1) Bs, Be, (1)
® o, 0, @
3) ISiz 2
® ¢ C, (4

collegedunia:s
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158, The most suitable reagent for the following
conversion, 1s:

| H,C _CH,
HSC—CEC—*CHS—'—'—} >:<
i H

cts-2-butene

() Hg*t/H* H,0
@  Na/liquid NH,-
(3) H,, Pd/C, quinoline
@ Zn/HCl
159. The method used to remove temporary hardness
of wateris:
(1) Synthetic resing method
@  Calgon’smethod
(3  Clark’s method
(49  Ion-exchange method
160. Which one is malachite from the following ?
(1) CuCO,4.Cu(OH),
(2 CuFeS,
@  Cu(OH),
49 FeyOy

181.
(1)
@
3
@

Which of the following is incorrect statement ?

SnF, i¢ ionic in nature

PDbF, is covalent in nature

SiCl, is easily hydrolysed

GeX,; X=F, Cl, Br, ) is more stable than
GeX,

39

Ré6

J&£, (most suitable)erbrmslic are L fime 158

- "t (conversion) Ul

Na / liquid NH,

CHj

(2)

H,, Pd/C, quinoline (3)

Zn /HCL

(4)

d-ti(hardness) §y (temporary) #Se ¥ §i 159

D 3AK (ve

B S
RS ig

B LK
LALEA Ly

move)
(1)
@
(3)
@

¢ iU s, 160

CuCO,.Cu(OH),.
CuFeSl,
Cu(OH),

Fe, 0,

(1)
(2)
(3)
(4)

¢ ﬁ-U:( éaug;ufa,u: J" Jorx 161

S BT (nature) =4 SnF,.

_.4:_3:5 (nature_) :-:,‘*-’MJ'U’ PbF,
LA e Q1T SiCl,

= & (stable) ¥ ) GeX, (X=F, C1, Br,T)
L GeX,

@)
(2)
(3)
(4)

T
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R6 40
162. The number of moles of hydrogen molecules | (yroduce) Sl _,;,JJ,,.' 90 (through).+//&J% {J}{ 162
required to produce 20 moles of ammonia through 5 e o
Haber's processis : ¢ Lfrf.:m/d/d"ﬁi JIJ:‘(L( 2
(1) 40 40 (1)
@ W 10 (2
3¢ 20 20  (3)
@ 30 30 (4
168. Identify the incorrect statement related to PCly L ?@fwgw (related) Jw' = PCl; 2 g,,t s 163
from the following :-
| wJtEnut (molecule) L PCL, (1)
(1) PCl; molecule is non-reactive
(2  Three equatorial P — Cl bonds make an angle (angle) s UJ 120°U T !’JP_IC}. ‘J’#"' 0 o (2)
of 120° with each other Ul
(3) TWCI E}Cla] P—Clbonds make an 3Hgl& of 180° (&ﬂglﬁ) b3 J 180° UC ude'L J P-Cl Lk'(’;‘” (3)
with each other ” :
ULt
(4)  Axial P— Clbonds are longer than equatorial )
P — Clbonds risd e B P-CL A P-CIUT ()
, P i - (3:&' (invalve).:««’,f& L}/ (electron) uﬂ/{g I 4 £ J:..Q 164
184, For acell involving one electron E = 0.89 V at . . o
298 K, the equilibrium constant for the cell reaction f'ﬁ-f'g fcj.LU’{U“' 298 K« Egy = 0.59V
I . & &A% (equilibrium)
: 2.303 RT
{Given that 2298 2L _ 0050 Vat T = 298 K} {— g~ 0059V T =298K): o\l
: 1.0x 1030 1
1 L0x103° 1)
; "
@  1.0x 102 LOXIE @
. : 5
(3 1.0x10° 1.O0x10°  (3)
@ 1.0x1019 1.0x 10190 (4)
. : ; 0L 99% e k2K u B LTS
165. Ifthe rate constant for a first order reactionisk, Lﬁ""’{"'{"}é ek . 2 S 165
the time (t) required for the completion of 99% of : dig.;-,,,; ﬁJ {t) whd S
the reaction is given by : |
t=2.303/k (1)
(1} t=2.303/k
t=0.693/k (2)
& t=0.693/k
t=6.90%k (3)
@  t=6.909/k -
t=4.606/k 4
@ t=4606/k )
collegedunlau
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166.

In which case change in entropy is negative ?

(1) 2H(g) - Hy(®

(@) Evaporation of water

(3)  Expansion of a gas at constant temperature
(49  Sublimation of solid to gas

167. Among the following, the narrow spectrum

168.

1569.

antibiotic is

(I) chloramphenicol
2 penicilinG

(3}  ampicillin

(4  amoxycillin

Which mixture of the solutions will lead to the
formation of negatively charged colloidal [Agl]I~
sol. 7

()  50mLof0.1 MAgNO,+50 mLof 0.1 MKI

(2 50mLof1M AgNO,;+50 mL of 1.5 M KI

@ 50mLof1M AgNO,+50 mL of 2 M KI

(49 50mLof2 M AgNOy+50 mL of 1.5 M KI

The non-essential amino acid among the following
i8

(1) lysine
@  valine
@ leucme
@  alanine

41

[AgII~ ¥zt e U s
50 mL of 0.1 MAgNO,+50mLof 0.1 MKI (1)
50 mL of 1 M AgNO,+50 mLof 1.5 MKI (2)
50 mL of 1 M AgNO,+50 mL of 2 M KI  (3)

50 mL of 2 M AgNG,+50 mL of 1.5 M KI (4)

I 71 (non-essential) Un”F e U2 5o

o/ & (amino acid)
o Q)
o (2)
VY ®
LV (4

T

R6

167

(negative) (change)ormf £¥S 11t case) b’ 166
¢ o b
2H(@E® - Hy(®) (1)
e Kl (@)
(expansian)t@gs’u—g(temp.}mr@;aﬁs’ (3)
R AT @)
e F e (narrow) & oo
JE#uE
G-u (@)
LIE)
FEH @

168

-169
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R6 42 -

170. Among the following, the reaction that proceeds Qi&Jd&Qbﬁﬁ&rﬁuﬂaﬁdz{fwﬁéuﬂdiﬂﬁ 170
through an electrophilic substitution, is : e PSTREAEEAE r Tes

N\ cH,0H + HO2Z CH,Cl+Hy0 QCHEOH oG QCHEOHHEO -
(1) _@—CH2 + HEL—=> 5Cl+ H,
._.CU‘ECIZ D
<} N,Cl- C’“?Clz —C1+N sz C @
(2) 2 —*—‘* 2

AlC "
K ©+ o, 2%, ¢ C]-t'-HC] (3)
3) ©+ Cly—2» anﬂcl |

C1 Ci

+ 1, TV leht, o cl

o __ ; .
) @w&%ﬂ“ al cl
{4) cr1 c

cl

b et Sy 2 bie 171
171, The compound that is most difficult to protonate &
is : - Ph i . \H (1)

7 0\ O~
1)  Ph H u-—""""~g ©
Pl T
@ H-~  T™H ' HyC H 3)
3) ch/ TSH ch./ T~cH, @

O p
€Y HSC/. \CHE; :u:ﬂ-)'/d_i,.;aﬂ 172

o g @ PoFr (@)
172, Match the following:

(a) Purenitrogen Q) Chlorine Jt St (i) Lﬁ;{’g’ ()
(b) Haberprocess (i)  Sulphuric acid L (1) Uﬁ{-‘fﬁ’ N (9
(¢ Contactprocess (i) Ammonia 5 Jlg Jﬁ ii;’uf{ o GV J:’; ,:c,f 3 (d)
(d Deacon'sprocess (iv) gﬁ;uui aa;;%e or b w&éfgt:} Tl Jﬂj;;_s;»
Which of the following is the correct option ? d) () (b (a)

@ G © @ B G @) @

O G @ @ O
@ @& @ @
® @ v O G
@ @) v @ O @ G v @) @

T

v G @ 6 @
Gi) O v @ @
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178. The structure of intermediate A in the following

reaction, 1s :
~ _CHg
CH OH
\cH,
: 0
» A > i
= H,0 + HgC _/KCI-I3
HC/"
~~CH,{
(1 .
o,
)
hY
CH,
@
CH,
C CmO O—H
® @
CH
0-0- CH

@

<k

174. p'I'-I of a saturated solution of Ca(OH), is 9. The
solubility product (KSP) of Ca_(_OI-I)Z 18
1 05x10-10
2) 05x10-15
3) 0.25x10-10
4 ° 0.125x10-15

43

Ré6

: &S Gtructure) e sLA u.‘.-:.fsfj"lfuigxd’" Sousr 173
_CH, )
CH_ OH
NCH, __
5 .
> A 5 '
H,0 + H3C < \CH4
CH,~0-0-H
HC/ |
5 CH3 2
(D
ey
| 0
OJQ\ 3
CH,
(2)
(E_Ha
H,C-C-0-0~H
(3)
ce
0~0-CH
|
cH, @

-¢ pH=9 Kb, ¥ Ca(OH),
K,,) (product) «bs=3 ¢ Ca(OH),

0.5x10-10 (1)
0.5x10-15 (2)
0.25x10710  (3)
0.125x1071% (4

T

A74
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175. A compound is formed by cation C and anion A. | _¢ 6 5 L.Lrofii_ f 2 o A (ftisl C J’w}ﬂ'{_g 175
The anions form hexagonal close packed (hep) N '; a ) .. *
lattice and the cations occupy 75% of octabedral ;a;.ﬂ'a;’;(void)&gdxg U 75% K L‘ﬁ:L.q.i_'.d..Lz (hep)
voids. The formula of the compound is : e UEE lf
@ Cuy C,A; (D)
@  Colg
CoAg  (2)
3 Gy
CiAy,  (3)
@ Cahy
CA, 4
176. Which of the following reactions are :
disproportionation reaction ? ¢ .-l;_c;ig; gf’:&gg /;‘jy%cjf.:,ddjf;p .176
(ﬂ) 20u+ — Cu2+ +Cuﬂ 20Ut — Cu2+ +Cuﬂ (3)
@) 3MnOy +4H' > 2MnO, +MnO, +2Hs0 | 3MnO. + 4H' - 2MnO], +MnO, +2H;0 ()
© 2EMnO, 4, KoMnOy +MnO; + O, 9KMnOy -85 KpMnOy +MnOp + 0y (9)
@  2MnOj +3MnZ" +2H,0 — 5Mn0, +4H® | 2Mn0j +8Mn*" +2H,0 — 5MnO, +4H® (9
Select the correct option from the following : e fé::'"u:‘j-"'?" ol
@) (3)and () only st @S~ (1)
2 (2 and (b)only b)) s @I  (2)
@ (a),(b)and () @A @by G
@ (a),(and (@ @ @4) @)
: _ : .;_--J'#Té‘ié (ideal solution) d)@ﬁﬁ.«g 177
177. For anideal solution, the correct optionis: ‘
< PAlT 2% A, G=0 (1)
®) Ay G=0atconstant Tand P *
L PuT 22 A S=0 (2
@ A, S=0atconstantTand P *
_ ~PAT L4 A V20 (8
@ A, V#0atconstant T and P o mix @
L PolT 249 A H=0 (4
4 A H=0atconstantT and P . P s mix (4D
collegedu nias
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178. Argas at 350 K and 15 bar has molar volume

179.

180.

20 percent, smaller than that for anideal gas under
the same conditions. The correct option about
the gas and its compressibility factor (Z) is :

(1) Z<1and repulsive forces are dominant
(2) Z=>=1and attractive forces are dominant
3  Z>1and repulsive forces are dominant
(4  Z<1and attractive forces are dominant

The correct order of the basic strength of methyl
gubstituted amines in aqueous solution is :

()  CHgNH, > (CHz),NH > (CH,),N

@  (CHy,NH > CHNH, > (CHy);N
3) (CHg)3N> CHyNH, > (CHg),NH
@  (CHy,N > (CHy),NH > CH,NH,

Enzymes tl_)at utilize ATP in phﬂsphatetrénéfei'
require an alkaline earth metal (M) as the cofactor.
Mis :

1 Sr
@ Be
@ Mg
4 Ca

-00o0-~

R6
U1k (bax)15 . 350 K (molar volume) A4+ U4 Li 178

WELLA ¢ venfid 20t o APHL
: ?-(Z)}Q@L‘ﬁﬁﬂ (correct option)
_f___JEL,ﬁ;’r‘%ml Z<1 (1)

- {dominant) -/ b i Z >1 (ﬁ)

ce At 2> 1 (3)
e ACIIEIN T < T (4)

S ATl ol iz st e 179
CH,NH, > (CHy),NH > (CHy),N (1)
(CH;);NH > CH,NH, > (CH);N  (2)
{CHy);N >CH,NH, > (CHp,NH (3)
(CH,);N > (CH,),NH > CH,NH,  (4)

Sdnfuiey LS Je6 ATP Ut Fred-i sz Ao 180

¢ Mt Gt A8 e i (M)

Sr (1)
Be (2)
Mg (3)
Ca (4)

-00o0-

T
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Read caréfully the following instructions : p As ks Gillae Jadz e

1. Each candidate must show on demand his/ Fg A
her Admit Card to the Invigilator. -l tw;’(u ot harg 1

9 No candidate, without special permission ) , )
of the Superintendent or Invigilator, would. L AL el 5% JU'/( LB gy cdlag Sof 2|

leave his/her seat. Y at
SaYs prase _f’,z__j,{uﬁ(;g,f)
3 The candidates should not leave the

Examination Hall without handing over | = . . . oo P N
their Answer Sheet to the Invigilator on b*”{ﬂd[{dw’/ﬁ%’f‘-‘«" 22 {di-’ﬂjk‘_@'ﬁ ERY "4;" .3

duty and sign the Atﬁendance Sheet j:wme. _ tﬂ & !"Ud‘ S A s ’ § /;,L; :fé’/wﬁhi;w .Lg
Cases where a candidate has not signed -

the Attendance Sheet second time will Lyl ff—-'ftfr;bﬁ' édfﬁ’ﬁf S e Mar U
be deemed not to have handed over the s b osp sripe d g
; : sl S 12 L IR d !

Answer Sheet and dealt with as an 2 ‘fﬂdw/{ = Jﬂ PJ&L}?,(U}

unfair means case. -lfi.ifl?{;:b
4. Use of Electronic/Manual Calculator is |

prohibited. | _ﬁ_C‘JWIW:@fJ}f / ._,L:/I/*-ﬁl 4
5. The candidates are governed by all Rules

and Regulations of the examination with | j . ;.. 2 e Y ¥

_ L330s St ol £ bt sl QP sl (.

regard to their conduct in the Examination d”"}hﬂlﬁf U:F*EL‘?.’J"@ ’jdw“’ =4 "’rbd[s'dv 5

Hall. All ¢ases of unfair means will be dealt K b J el s I e LLL;TQL

with as per Rules and Regulations of this

ymination. : o P 1 s

. Sl ELTE izl ALl 6
6. No part of the Test Booklet and Answer : ¥ .

Sheet shall be detached under any -E:CL?

circumstances.
7. The candidates will write the Correct Test | 3122 / ;{Cf' 2o ecd Jf%c 3] K{Cf el T

Booklet Code as given in the Test _B_ookiétf | s

Answer Sheet in the Attendance Sheet. ~& &2 S Sk
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